Contract 24-12 - East 7th Ax	venue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City		Street Reconstruction (#901	1102)					
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh 111, City	y 01							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
ы оренна. 01/01/2021 1	1.00 11.01 CD 1							
					Carl Bowers & Son	as Const. Co. Inc.	Jossart Brot	here Inc
				+	N1844 Malo		Jossait Dio	ners, me.
					Kaukauna,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	item code	item Description	COLIVI	Qualitity	OnitTite	\$2,100,377.57	Omit i fice	\$2,235,415.02
Section 1		Mobilization; complete as				\$2,100,377.37		\$2,235,415.02
	1050	specified	Lump Sum	1.00	\$100,100.00	\$100,100.00	\$174,000.00	\$174,000.00
	1050	Removing pavement;	Lunip Juni	1.00	\$100,100.00	\$100,100.00	\$174,000.00	\$174,000.00
	1100	complete as specified	Square Yards	1,450.00	\$5.00	\$7,250.00	\$1.03	\$1,493.50
	1100	Removing curb and	Square raius	1,450.00	\$5.00	\$7,230.00	\$1.03	\$1,495.50
		gutter; complete as						
	1110	specified	Linear Feet	2,440.00	\$5.00	\$12,200.00	\$1.03	\$2,513.20
	1110	Removing concrete and	Effical Teet	2,440.00	ψ3.00	ψ12,200.00	ψ1.00	Ψ2,313.20
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	21,000.00	\$0.80	\$16,800.00	\$0.62	\$13,020.00
		Unclassified excavation;	- 1	==,=====	4000	4-0/00000	****	4-0/0-0000
	1200	complete as specified	Cubic Yards	2,370.00	\$17.00	\$40,290.00	\$22.60	\$53,562.00
		Excavation special		,	* ***	, ,,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		(paving); complete as						
	1220	specified	Tons	500.00	\$0.01	\$5.00	\$0.01	\$5.00
		7" concrete pavement;			·	·		•
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	3,830.00	\$58.00	\$222,140.00	\$57.20	\$219,076.00
		7" concrete pavement						
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	350.00	\$62.00	\$21,700.00	\$61.30	\$21,455.00
		8" concrete pavement;						
		with 6" CABC and						
		grading; complete as						
	1311	specified	Square Yards	430.00	\$78.00	\$33,540.00	\$77.60	\$33,368.00
		8" concrete pavement						
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	570.00	\$83.00	\$47,310.00	\$81.70	\$46,569.00
		Concrete pavement gaps;						
	1334	complete as specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	780.00	\$16.00	\$12,480.00	\$13.90	\$10,842.00
		Pavement ties; complete						
	1350	as specified	Each	250.00	\$8.90	\$2,225.00	\$8.75	\$2,187.50

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	1482)				1	
Owner: Oshkosh WI, City o		Street Reconstruction (#901	1102)					
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh vvi, City	1			+				
Bid Opening: 04/01/2024 11	:00 AM CDT			+				
Did Opening. 04/01/2024 11				+				
				+	Carl Bowers & Son	se Conet Co. Inc	Jossart Brot	thore Inc
					N1844 Malo	·	JUSSAIT DIO	mers, mc.
					Kaukauna,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item Code	Drilled dowel bars; 1";	UOIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
	1252		Eash	26.00	¢14.70	¢292.20	¢1.4.4E	¢275 70
	1352	complete as specified Drilled dowel bars; 1 1/4";	Each	26.00	\$14.70	\$382.20	\$14.45	\$375.70
	1054		T. J.	260.00	¢17.22	¢4 505 00	¢17.00	¢4.420.00
	1354	complete as specified Adjust manholes and	Each	260.00	\$17.33	\$4,505.80	\$17.00	\$4,420.00
		1 '						
	12.0	inlets; complete as		47.00	4405.00	440.000	2440.00	***
	1360	specified	Each	47.00	\$425.00	\$19,975.00	\$440.00	\$20,680.00
	4000	Turf restoration;		2 =00 00	40.00	#24 200 00	40.40	****
	1370	complete as specified	Square Yards	2,700.00	\$9.00	\$24,300.00	\$8.40	\$22,680.00
		Restore gravel						
		driveway/apron;						
	1372	complete as specified	Square Yards	230.00	\$30.00	\$6,900.00	\$15.75	\$3,622.50
		Cold weather covering						
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	735.00	\$0.01	\$7.35	\$0.01	\$7.35
		Cold weather covering						
		(concrete pavement) -						
		double visquine;						
	1382	complete as specified	Square Yards	735.00	\$0.01	\$7.35	\$0.01	\$7.35
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	145.00	\$10.50	\$1,522.50	\$10.30	\$1,493.50
		12" radius curb with 6"						
		CABC and grading;						
	1410	complete as specified	Linear Feet	425.00	\$14.28	\$6,069.00	\$14.45	\$6,141.25
		30" curb and gutter; 7";						
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	145.00	\$47.88	\$6,942.60	\$49.50	\$7,177.50
	1	Sidewalk curb; complete						
	1460	as specified	Linear Feet	80.00	\$47.25	\$3,780.00	\$46.50	\$3,720.00
		4" concrete sidewalk with						
	1	3" CABC and grading;						
	1500	complete as specified	Square Feet	11,800.00	\$6.60	\$77,880.00	\$7.85	\$92,630.00
		6" concrete sidewalk/						
	1	driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	5,200.00	\$6.90	\$35,880.00	\$8.10	\$42,120.00

Contract 24-12 - East 7th A	venue and Grand	Street Reconstruction (#901	4482)					
wner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit	y of							
id Opening: 04/01/2024 1	1:00 AM CDT							
					Carl Bowers & Son	ns Const. Co., Inc.	Jossart Brot	thers, Inc.
					N1844 Mal	oney Road		
					Kaukauna,	WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	1,010.00	\$7.20	\$7,272.00	\$8.35	\$8,433.5
		6" concrete step; complete	-					
	1530	as specified	Square Feet	245.00	\$63.00	\$15,435.00	\$62.00	\$15,190.0
		Curb ramp detectable	-					
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	90.00	\$42.00	\$3,780.00	\$41.20	\$3,708.0
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	2,800.00	\$2.10	\$5,880.00	\$2.10	\$5,880.
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	135.00	\$8.40	\$1,134.00	\$8.40	\$1,134.0
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	2,700.00	\$0.01	\$27.00	\$0.01	\$27.
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	2,700.00	\$0.01	\$27.00	\$0.01	\$27.0
		Cold weather covering						
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	2,840.00	\$0.02	\$56.80	\$0.02	\$56.3
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	38.00	\$12.00	\$456.00	\$12.60	\$478.
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	16.00	\$105.00	\$1,680.00	\$48.00	\$768.
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	16.00	\$12.00	\$192.00	\$51.00	\$816.0

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitor Conkosh vii, City								
Bid Opening: 04/01/2024 11	1:00 AM CDT							
Dia Opening. 01/01/202111	I CD I							
					Carl Bowers & So.	ns Const. Co. Inc.	Jossart Brot	hore Inc
					N1844 Mal		Jossait Dio	ners, me.
					Kaukauna	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem coue	Sawing existing	COIM	Qualitity	Cilit i licc	Extension	Cint Tite	Extension
		pavement; complete as						
	1700	specified	Linear Feet	700.00	\$2.00	\$1,400.00	\$3.00	\$2,100.00
	1700	Sawing concrete	Linear reet	700.00	Ψ2.00	\$1,400.00	\$5.00	\$2,100.00
		pavement full depth;						
	1710	complete as specified	Linear Feet	1,000.00	\$2.25	\$2,250.00	\$4.00	\$4,000.00
	1710	Tack coat; complete as	Ellicar rect	1,000.00	Ψ2.20	Ψ2,200.00	ψ1.00	Ψ1,000.00
	1900	specified	Gallons	26.00	\$5.75	\$149.50	\$6.00	\$156.00
	1700	4" asphaltic transition LT	Gunono	20.00	ψο., σ	ψ117.50	φο.οο	ψ150.00
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	195.00	\$60.00	\$11,700.00	\$64.50	\$12,577.50
		4" asphaltic surface LT	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		,	, ,	,	, ,
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	165.00	\$60.00	\$9,900.00	\$62.30	\$10,279.50
		2" asphaltic surface LT	1					•
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	46.00	\$62.00	\$2,852.00	\$67.50	\$3,105.00
		Asphaltic cold weather	•					
		paving up-charge;						
	1918	complete as specified	Square Yards	54.00	\$28.75	\$1,552.50	\$30.00	\$1,620.00
		Furnish and install 8"						
		storm sewer; complete as						
	2001	specified	Linear Feet	10.00	\$80.00	\$800.00	\$62.00	\$620.00
		Furnish and install 10"						
		storm sewer; complete as						
	2002	specified	Linear Feet	70.00	\$87.00	\$6,090.00	\$70.00	\$4,900.00
		Furnish and install 12"		Ι Τ				
		storm sewer; complete as						
	2003	specified	Linear Feet	230.00	\$82.00	\$18,860.00	\$62.00	\$14,260.00
		Furnish and install 15"						
		storm sewer; complete as						
	2006	specified	Linear Feet	60.00	\$87.00	\$5,220.00	\$69.00	\$4,140.00
		Furnish and install 15"						
		RCP Class III storm						
		sewer; complete as						
	2007	specified	Linear Feet	60.00	\$90.00	\$5,400.00	\$71.00	\$4,260.00

Contract 24-12 - East 7th Ave	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
	1							
Bid Opening: 04/01/2024 11:	:00 AM CDT							
Dia Opening. 01/01/202111.	100 71117 CD 1							
					Carl Bowers & Son	as Const. Co. Inc.	Jossart Broth	nore Inc
	_			<b>-</b>			Jossait Dioti	iers, me.
					N1844 Malo Kaukauna,			
C ti Titl	71 6 1	T. D	11.01	0 111			TI '' D '	F
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	190.00	\$95.00	\$18,050.00	\$87.00	\$16,530.00
		Furnish and install 21"						
		storm sewer; complete as						
	2012	specified	Linear Feet	15.00	\$125.00	\$1,875.00	\$150.00	\$2,250.00
		Furnish and install 24"						
		storm sewer; complete as						
	2015	specified	Linear Feet	500.00	\$115.00	\$57,500.00	\$101.00	\$50,500.00
		Furnish and install 24"						
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	350.00	\$115.00	\$40,250.00	\$101.00	\$35,350.00
		Furnish and install 43" x						
		68" HERCP Class III						
		storm sewer; complete as						
	2057	specified	Linear Feet	200.00	\$290.00	\$58,000.00	\$314.00	\$62,800.00
		Furnish and install						
		standard storm sewer						
		manhole (2' diameter);						
	2200	complete as specified	Vertical Feet	3.25	\$650.00	\$2,112.50	\$500.00	\$1,625.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	36.50	\$600.00	\$21,900.00	\$845.00	\$30,842.50
		Furnish and install			400000	4//	77.20.00	444/4-2-144
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	7.25	\$700.00	\$5,075.00	\$800.00	\$5,800.00
	2202	Furnish and install	verticarrect	7.20	ψ/ 00.00	\$5,675.00	фосолос	ψ5,000.00
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.25	\$750.00	\$3,187.50	\$1,050.00	\$4,462.50
	2213	Furnish and install storm	vertical reet	4.23	\$750.00	Φ3,107.30	\$1,000.00	\$4,402.50
		sewer junction chamber						
		· · · · · · · · · · · · · · · · · · ·						
	2225.4	G-10; complete as	T. J.	1.00	#14 000 00	#14.000.00	#10.200.00	#10 <b>2</b> 00 00
	2225A	specified	Each	1.00	\$14,000.00	\$14,000.00	\$19,200.00	\$19,200.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City		,	- ,					
Solicitor: Oshkosh WI, City				<del>                                     </del>				
Solicitor. Oshikosh 111, Ch	1							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
bid Opening. 04/01/2024 11	1.00 MW CD I	+		-				
					Carl Bowers & Sor	an Compt. Co. Ima	Income Pure	thana Tara
				<u> </u>		·	Jossart Bro	tners, inc.
					N1844 Malo	•		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install storm						
		sewer junction chamber						
		G-11; complete as						
	2225B	specified	Each	1.00	\$11,000.00	\$11,000.00	\$13,900.00	\$13,900.00
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	15.00	\$3,500.00	\$52,500.00	\$2,750.00	\$41,250.00
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	850.00	\$75.00	\$63,750.00	\$72.00	\$61,200.00
		Furnish and install 8"						
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	10.00	\$80.00	\$800.00	\$80.00	\$800.00
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	56.00	\$25.00	\$1,400.00	\$30.00	\$1,680.00
		Furnish and install storm						
		sewer clay dams;						
	2406	complete as specified	Each	28.00	\$100.00	\$2,800.00	\$50.00	\$1,400.00
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	24.00	\$1,000.00	\$24,000.00	\$1,100.00	\$26,400.00
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	10.00	\$100.00	\$1,000.00	\$250.00	\$2,500.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	50.00	\$95.00	\$4,750.00	\$80.00	\$4,000.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	50.00	\$10.00	\$500.00	\$1.05	\$52.50
		Furnish; install; maintain;						
		and remove stone		] ]				
		tracking pad; complete as						
	2512	specified	Each	2.00	\$10.00	\$20.00	\$750.00	\$1,500.00
		Furnish; install; maintain;						*
		and remove stone bag;						
	2516	complete as specified	Each	50.00	\$12.00	\$600.00	\$10.50	\$525.00

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit								
	1			1				
Bid Opening: 04/01/2024 1	1:00 AM CDT			1				
					Carl Bowers & Sor	as Const. Co. Inc.	Jossart Brot	hare Inc
					N1844 Malo		jossuit Bio	iters, inc.
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension Extension	Unit Price	Extension
Section Title	item Code	Furnish; install; maintain;	COIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		and remove 12" diameter						
	2510	sediment logs; complete	LinnarEnd	100.00	¢10.00	¢1 000 00	¢0.50	¢050.0
	2518	as specified Furnish; install; maintain;	Linear Feet	100.00	\$10.00	\$1,000.00	\$9.50	\$950.0
		and remove dewatering						
	2524	tank system; complete as	г. 1	1.00	#1 000 00	#1 000 00	#15 000 00	#1 F 000 0
	2524	specified Abandon 8" - 12" storm	Each	1.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.0
	2000	sewer; complete as	T. T.	400.00	#15.00	#c 000 00	#0.00	#2 200 0
	2800	specified Abandon 15" and larger	Linear Feet	400.00	\$15.00	\$6,000.00	\$8.00	\$3,200.00
		o l						
	2002	storm sewer; complete as	T. T.	200.00	425.00	dE 000 00	#12.00	#2 (00 0
	2802	specified Remove 30" and smaller	Linear Feet	200.00	\$25.00	\$5,000.00	\$13.00	\$2,600.00
	2004	storm sewer; complete as	T. T.	240.00	#20.00	d= 200 00	ф <b>2</b> 4.00	#F 740 04
	2804	specified	Linear Feet	240.00	\$30.00	\$7,200.00	\$24.00	\$5,760.00
		Abandon storm sewer						
	2010	manholes and inlets;		0.00	4400.00	42 200 00	#400.00	#2 200 0
	2810	complete as specified	Each	8.00	\$400.00	\$3,200.00	\$400.00	\$3,200.0
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	6.00	\$500.00	\$3,000.00	\$500.00	\$3,000.0
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	9.00	\$800.00	\$7,200.00	\$1,200.00	\$10,800.0
		Connect to existing storm						
	2052	sewer lateral; complete as	г.		****	****	****	** *** *
	2852	specified	Each	4.00	\$200.00	\$800.00	\$250.00	\$1,000.0
		Connect lateral to existing						
	2054	storm sewer main;			******	ha	*****	
	2854	complete as specified	Each	2.00	\$800.00	\$1,600.00	\$300.00	\$600.0
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	3.00	\$800.00	\$2,400.00	\$400.00	\$1,200.0
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	2.00	\$600.00	\$1,200.00	\$750.00	\$1,500.00
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	200.00	\$30.00	\$6,000.00	\$15.00	\$3,000.0

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
wner: Oshkosh WI, City								
olicitor: Oshkosh WI, City								
id Opening: 04/01/2024 11	1:00 AM CDT							
1 0								
					Carl Bowers & Sor	is Const. Co., Inc.	Jossart Bro	thers. Inc.
					N1844 Male		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
					Kaukauna,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem coue	Bentonite slurry dam	COLIVI	Quantity	Cint i iicc	Extension	Chitrice	Extension
		(storm); complete as						
	2952	specified	Each	2.00	\$250.00	\$500.00	\$750.00	\$1,500.0
	2,32	Furnish and install 8"	Lacii	2.00	Ψ250.00	ψ300.00	ψ/ 50.00	φ1,500.0
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	1,215.00	\$105.00	\$127,575.00	\$112.00	\$136,080.0
	3000	Furnish and install 12"	Enical I CCt	1,210.00	ψ100.00	Ψ127,575.00	ψ112.00	φ150,000.0
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	15.00	\$165.00	\$2,475.00	\$125.00	\$1,875.0
	3004	Furnish and install 8"	Effical rect	15.00	ψ105.00	Ψ2,47 3.00	ψ123.00	ψ1,075.0
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	13.00	\$550.00	\$7,150.00	\$1,100.00	\$14,300.0
	3060	Furnish and install	vertical reet	15.00	\$550.00	\$7,130.00	\$1,100.00	\$14,300.0
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	102.00	\$500.00	\$51,000.00	\$470.00	\$47,940.0
	3100	Furnish and install	vertical reet	102.00	\$300.00	\$51,000.00	Φ±70.00	φ±7,7±0.0
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	9.00	\$500.00	\$4,500.00	\$575.00	\$5,175.0
	3114	Furnish and install	EdCII	9.00	\$300.00	\$4,300.00	\$373.00	\$5,175.0
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$400.00	\$800.00	\$525.00	\$1,050.0
	3110	Furnish and install 8" x 6"	EdCII	2.00	\$400.00	\$600.00	\$323.00	\$1,030.0
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	28.00	\$250.00	\$7,000.00	\$125.00	\$3,500.0
	3210	Furnish and install 4"	EdCII	28.00	\$250.00	\$7,000.00	\$125.00	\$3,300.C
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	30.00	\$92.00	\$2,760.00	\$98.00	\$2,940.0
	3230	Furnish and install 4"	Linear reet	30.00	\$92.00	\$2,760.00	\$90.00	\$2,940.0
		sanitary sewer riser						
		(new); complete as						
	3231	specified	Linear Feet	2.00	\$100.00	\$200.00	\$100.00	\$200.0
	3231	Furnish and install 6"	Linear reet	2.00	\$100.00	\$200.00	\$100.00	\$200.0
		sanitary sewer laterals						
		(new); complete as						
	2222		Limon Foot	20.00	¢101.00	¢2,020,00	¢100 00	¢2.000.0
	3232	specified	Linear Feet	30.00	\$101.00	\$3,030.00	\$102.00	\$3,060.

Contract 24-12 - East 7th Ave	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City o			10_,					
Solicitor: Oshkosh WI, City								
Joneston Oshkosh VVI, City	1							
3id Opening: 04/01/2024 11:	00 AM CDT							
na Opening. 04/01/2024 11.	I CD I			1				
					Carl Bowers & Sor	as Const Co. Inc	Jossart Brot	have Inc
					N1844 Male		Jossaft Biol	ners, mc.
						,		
o d mid		7. 7	*** ***	0	Kaukauna,		** !: "	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		sanitary sewer riser						
		(new); complete as						
	3233	specified	Linear Feet	2.00	\$120.00	\$240.00	\$100.00	\$200.00
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	800.00	\$92.00	\$73,600.00	\$102.00	\$81,600.00
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	50.00	\$103.00	\$5,150.00	\$102.00	\$5,100.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	56.00	\$25.00	\$1,400.00	\$30.00	\$1,680.00
		Furnish and install clay						
		dams; complete as						
	3238	specified	Each	28.00	\$100.00	\$2,800.00	\$50.00	\$1,400.00
		Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	2.00	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	3.00	\$2,000.00	\$6,000.00	\$1,200.00	\$3,600.00
		Furnish and install						
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	2.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
		Furnish and install 10"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	20.00	\$400.00	\$8,000.00	\$120.00	\$2,400.00
		Furnish and install 18"				, , , , , , , , , , , , , , , , , , , ,	,	.,
		sanitary sewer open cut						
		casing pipes; complete as						
	3410	specified	Linear Feet	15.00	\$500.00	\$7,500.00	\$200.00	\$3,000.00
	5110	Rock excavation;	_mear reet	10.00	\$530.00	ψ.,300.00	\$200.00	45,000.00
	3600	complete as specified	Cubic Yards	25.00	\$0.01	\$0.25	\$0.01	\$0.25

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	1482)					
wner: Oshkosh WI, City o	of							
olicitor: Oshkosh WI, City	y of							
id Opening: 04/01/2024 11	1:00 AM CDT							
1 0								
					Carl Bowers & So	ns Const. Co., Inc.	Jossart Brot	hers, Inc.
					N1844 Mal	·	,,,,,,	,
					Kaukauna			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Tem couc	Closed circuit televising;	001111	Quantity	OIII THE	Extension	Cint Title	Extension
	3700	complete as specified	Linear Feet	1,230.00	\$2.00	\$2,460.00	\$1.30	\$1,599.0
	3700	Closed circuit televising -	Linear rect	1,230.00	ψ2.00	Ψ2,400.00	ψ1.50	ψ1,077.0
		using push camera;						
	3710	complete as specified	Each	4.00	\$250.00	\$1,000.00	\$250.00	\$1,000.0
	3710	Abandon sanitary sewer	Each	4.00	\$230.00	\$1,000.00	\$250.00	\$1,000.0
		· ·						
	2000	manholes; complete as	г	2.00	φ <u>τ</u> οο οο	#1 000 00	#F00.00	#1 000 O
	3800	specified Abandon 8" sanitary	Each	2.00	\$500.00	\$1,000.00	\$500.00	\$1,000.0
		1						
	2002	sewer; complete as		-0.00	440.00	4=00.00	40.00	****
	3802	specified	Linear Feet	58.00	\$10.00	\$580.00	\$8.00	\$464.0
		Abandon 10" sanitary						
		sewer; complete as					***	
	3804	specified	Linear Feet	183.00	\$12.00	\$2,196.00	\$10.00	\$1,830.0
		Remove sanitary sewer;						
	3854	complete as specified	Linear Feet	71.00	\$40.00	\$2,840.00	\$30.00	\$2,130.0
		Sanitary sewer utility line						
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$600.00	\$1,200.00	\$750.00	\$1,500.0
		Excavation special						
		(sanitary); complete as						
	3892	specified	Tons	105.00	\$30.00	\$3,150.00	\$15.00	\$1,575.0
		Bentonite slurry dam						
		(sanitary); complete as						
	3894	specified	Each	2.00	\$250.00	\$500.00	\$750.00	\$1,500.0
		Furnish and install 4"			<u> </u>			<u> </u>
		ductile iron water main						
		(relay) with polywrap;						
	4000	complete as specified	Linear Feet	30.00	\$130.00	\$3,900.00	\$145.00	\$4,350.0
		Furnish and install 6"						
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	115.00	\$115.00	\$13,225.00	\$135.00	\$15,525.0
		Furnish and install 8"				·		· · · · · · · · · · · · · · · · · · ·
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	1,101.00	\$122.00	\$134,322.00	\$144.00	\$158,544.0
		Furnish and install 10"		, , ,	, .==	, - ,=====	,	, ,
		ductile iron water main						
		(relay) with polywrap;						
	4006	complete as specified	Linear Feet	30.00	\$165.00	\$4,950.00	\$170.00	\$5,100.0

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City			- ,					
Solicitor: Oshkosh WI, City								
outerior common viry eng	1							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
ou opening, or or access	1001207 CD1							
					Carl Bowers & Son	ns Const. Co. Inc.	Jossart Brot	nore Inc
					N1844 Male		Jossaft Biot	icis, iiic.
					Kaukauna,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem coue	Furnish and install new 6"	001111	Quantity	ChitTite	Extension	Cint Titee	Extension
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	35.00	\$118.00	\$4,130.00	\$135.00	\$4,725.00
	4020	Furnish and install new 8"	Linear Feet	33.00	\$110.00	\$4,130.00	\$133.00	Ψ±,720.00
		ductile iron water main						
		with polywrap; complete						
	4022	as specified	Linear Feet	150.00	\$127.00	\$19,050.00	\$144.00	\$21,600.00
	4022	Furnish and install 1"	Linear Feet	130.00	\$127.00	\$17,030.00	\$144.00	\$21,000.00
		water service (relay);						
	4036	complete as specified	Linear Feet	700.00	\$80.00	\$56,000.00	\$117.00	\$81,900.00
	4030	Furnish and install 1"	Linear reet	700.00	\$60.00	\$30,000.00	\$117:00	\$61,700.00
		water service (new);						
	4042	complete as specified	Linear Feet	40.00	\$80.00	\$3,200.00	\$117.00	\$4,680.00
	4042	Furnish and install 1"	Linear reet	40.00	\$60.00	\$3,200.00	\$117:00	Φ <del>4</del> ,000.00
		corporation and stop box;						
	4048	complete as specified	Each	25.00	\$600.00	\$15,000.00	\$600.00	\$15,000.00
	4040	Furnish and install water	Lacii	25.00	\$000.00	\$13,000.00	φουο.υυ	\$15,000.00
		service clay dams;						
	4055	complete as specified	Each	25.00	\$100.00	\$2,500.00	\$50.00	\$1,250.00
	4000	Furnish and install	Edell	25.00	\$100.00	\$2,300.00	\$30.00	\$1,230.00
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	4036	Furnish and install	Eacn	1.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
		connections to existing 6"						
	4058	water main; complete as specified	Each	1.00	\$1,800.00	\$1,800.00	\$1,750.00	\$1,750.00
	4036	Furnish and install	Eacn	1.00	\$1,000.00	\$1,000.00	\$1,750.00	\$1,750.00
		connections to existing 8"						
		water main; complete as						
	4060	-	Each	2.00	<b>#3 300 00</b>	¢4 400 00	¢2 000 00	\$4,000.00
	4060	specified Furnish and install	Each	2.00	\$2,200.00	\$4,400.00	\$2,000.00	\$4,000.00
		connections to existing						
	4062	10" water main; complete	El-	2.00	# <b>2</b> F00 00	фE 000 00	#2 F00 00	фE 000 00
	4062	as specified Furnish and install 8" x 6"	Each	2.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
	4110	water main tee; complete	East.	2.00	#1 000 00	#2 000 00	#FF0 00	# <b>0.0</b> F0.00
	4110	as specified	Each	3.00	\$1,000.00	\$3,000.00	\$750.00	\$2,250.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	482)					
Owner: Oshkosh WI, City o		Street Reconstruction (#9011	102)					
Solicitor: Oshkosh WI, City		+		<del>                                     </del>			-	
Solicitor: Oshkosh Wi, City	7 01			-				
P. 1 O 04/01/0004 11	LOO AM CDT							
Bid Opening: 04/01/2024 11	1:00 AM CD1							
					Carl Bowers & Son	·	Jossart Broth	hers, Inc.
					N1844 Malo	oney Road		
					Kaukauna,	WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	3.00	\$1,100.00	\$3,300.00	\$830.00	\$2,490.00
		Furnish and install 8" x						
		10" water main tee;						
	4112	complete as specified	Each	1.00	\$1,400.00	\$1,400.00	\$1,130.00	\$1,130.00
		Furnish and install 4" 45						
		degree water main bend;						
	4235	complete as specified	Each	4.00	\$600.00	\$2,400.00	\$230.00	\$920.00
		Furnish and install 6" 45				·		
		degree water main bend;						
	4236	complete as specified	Each	14.00	\$750.00	\$10,500.00	\$330.00	\$4,620.00
		Furnish and install 10" 45			4.0000	4-0,000	4444	4-7-2
		degree water main bend;						
	4238	complete as specified	Each	4.00	\$1,000.00	\$4,000.00	\$630.00	\$2,520.00
	1200	Furnish and install 6"	Eucri	1.00	ψ1,000.00	ψ1,000.00	φοσο.σσ	Ψ2,020.00
		water main cap; complete						
	4254	as specified	Each	2.00	\$600.00	\$1,200.00	\$2,500.00	\$5,000.00
	4204	Furnish and install 8"	Each	2.00	φου.υυ	\$1,200.00	\$2,500.00	ψ3,000.00
		water main cap; complete						
	4255	as specified	Each	1.00	\$700.00	\$700.00	\$2,750.00	\$2,750.00
	4233	Furnish and install 8" x 4"	EdCII	1.00	\$700.00	\$700.00	\$2,730.00	\$2,730.00
		water main reducer;						
	4262		T1.	1.00	¢750.00	¢750.00	#250.00	#2F0 00
	4263	complete as specified Furnish and install 8" x 6"	Each	1.00	\$750.00	\$750.00	\$350.00	\$350.00
	4264	water main reducer;	г. 1	2.00	4550.00	#1 500 00	#200.00	# <b>7</b> (0,00
	4264	complete as specified	Each	2.00	\$750.00	\$1,500.00	\$380.00	\$760.00
		Furnish and install 8"						
	1200	water main plug;	F 1	100	4.00	****	** == * * * *	40 550 00
	4309	complete as specified	Each	1.00	\$600.00	\$600.00	\$2,750.00	\$2,750.00
		Cut and cap existing 6"						
		water main; complete as						
	4352	specified	Each	2.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00
		Cut and cap existing 8"						
		water main; complete as						
	4354	specified	Each	2.00	\$2,200.00	\$4,400.00	\$2,750.00	\$5,500.00
		Cut and cap existing 10"						
		water main; complete as						
	4356	specified	Each	2.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	1482)					
Owner: Oshkosh WI, City o			,					
Solicitor: Oshkosh WI, City								
Solicitor. Oshikosh 111, City								
Bid Opening: 04/01/2024 11	1:00 AM CDT							
					Carl Bowers & Son	ns Const. Co., Inc.	Jossart Broth	ers. Inc.
					N1844 Male	·	,,,,,,,,,	,
					Kaukauna.	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"		2	5			
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$2,300.00	\$9,200.00	\$2,080.00	\$8,320.00
		Furnish and install 8"			4-/	41/20000	42,00000	40,02000
		water main gate valve;						
	4402	complete as specified	Each	10.00	\$3,100.00	\$31,000.00	\$2,950.00	\$29,500.00
		Furnish and install 10"			,,,	*** /******	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		water main gate valve;						
	4403	complete as specified	Each	2.00	\$4,100.00	\$8,200.00	\$4,210.00	\$8,420.00
		Furnish and install 10" x			, ,	, , , , , , , , , , , , , , , , , , , ,	, , , , ,	,,,
		6" tapping valve and						
		sleeve; complete as						
	4437	specified	Each	1.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00
		Furnish and install 10" x				. ,		· · ·
		8" tapping valve and						
		sleeve; complete as						
	4438	specified	Each	1.00	\$5,500.00	\$5,500.00	\$5,500.00	\$5,500.00
		Furnish and install				. ,		· · ·
		hydrant; complete as						
	4500	specified	Each	4.00	\$6,000.00	\$24,000.00	\$5,800.00	\$23,200.00
		Furnish and install 2"			·	·		
		water main casing pipe;						
	4712	complete as specified	Linear Feet	20.00	\$150.00	\$3,000.00	\$15.00	\$300.00
		Furnish and install 18"				·		
		water main casing pipe;						
	4726	complete as specified	Linear Feet	15.00	\$500.00	\$7,500.00	\$200.00	\$3,000.00
		Rock excavation;				·		•
	4800	complete as specified	Cubic Yards	20.00	\$0.01	\$0.20	\$0.01	\$0.20
		Abandon water main on						
		Grand Street; complete as						
	4900	specified	Lump Sum	1.00	\$2,000.00	\$2,000.00	\$7,500.00	\$7,500.00
		Abandon water main on	-					
		East 7th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
		Remove water main;	-					
	4920	complete as specified	Linear Feet	350.00	\$30.00	\$10,500.00	\$24.00	\$8,400.00
		Excavation special						
		(water); complete as						
	4990	specified	Tons	100.00	\$30.00	\$3,000.00	\$15.00	\$1,500.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City o			,					
Solicitor: Oshkosh WI, City								
Solicitor. Common 111, City	, or							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
					Carl Bowers & So	ns Const. Co., Inc.	Jossart Brot	hers. Inc.
					N1844 Mal	·	, , , , , , , , , , , , , , , , , , ,	
					Kaukauna	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Trem coue	Bentonite slurry dam	001111	Quantity	O A A A A A A A A A A A A A A A A A A A	Extension	Canti Trace	LAtension
		(water); complete as						
	4992	specified	Each	2.00	\$250.00	\$500.00	\$750.00	\$1,500.00
	17,2	Furnish and install pull	Lucii	2.00	\$200.00	φοσοίου	ψ, cc.cc	<i>ψ1/000.00</i>
		box (steel); 18" x 36";						
	5012	complete as specified	Each	16.00	\$1,250.00	\$20,000.00	\$1,287.50	\$20,600.00
		Adjust pull box; complete			, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	5025	as specified	Each	16.00	\$5.00	\$80.00	\$85.00	\$1,360.00
		Remove concrete base;			,	,	, , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	5027	complete as specified	Each	3.00	\$200.00	\$600.00	\$210.00	\$630.00
		Install CITY-supplied						
		lighting control cabinet;						
	5051	complete as specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00
		Install electrical service;						
	5054	complete as specified	Each	1.00	\$2,250.00	\$2,250.00	\$2,350.00	\$2,350.00
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	2,130.00	\$14.00	\$29,820.00	\$14.42	\$30,714.60
		Connect to existing						
		conduit; complete as						
	5181	specified	Each	3.00	\$250.00	\$750.00	\$260.00	\$780.00
		Furnish and install 4						
		gauge red-coated wire;						
	5230	complete as specified	Linear Feet	2,890.00	\$2.50	\$7,225.00	\$2.60	\$7,514.00
		Furnish and install 4						
		gauge black-coated wire;						
	5231	complete as specified	Linear Feet	2,890.00	\$2.50	\$7,225.00	\$2.60	\$7,514.00
		Furnish and install 10						
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	2,350.00	\$0.95	\$2,232.50	\$1.00	\$2,350.00
		Furnish and install 12						
		gauge red-coated wire;					**	
	5270	complete as specified	Linear Feet	440.00	\$0.80	\$352.00	\$0.85	\$374.00
		Furnish and install 12						
		gauge black-coated wire;			***	****	** **	****
	5271	complete as specified Furnish and install 12	Linear Feet	440.00	\$0.80	\$352.00	\$0.85	\$374.00
	F272	gauge green-coated wire;	Linnar	440.00	#0.00	фо <b>го</b> оо	po of	#074.00
	5272	complete as specified	Linear Feet	440.00	\$0.80	\$352.00	\$0.85	\$374.00

Contract 24-12 - East 7th Av	venue and Grand S	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 04/01/2024 11	1:00 AM CDT							
					Carl Bowers & Sor	ns Const. Co., Inc.	Jossart Bro	thers, Inc.
					N1844 Malo	oney Road		
					Kaukauna,	WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	28.00	\$55.00	\$1,540.00	\$57.50	\$1,610.00
		Furnish and install 2A						
		fuse; complete as						
	5386	specified	Each	28.00	\$5.00	\$140.00	\$5.25	\$147.00
		Install CITY-supplied						
		pole and pole top						
		luminaire; complete as						
	5410	specified	Each	6.00	\$750.00	\$4,500.00	\$775.00	\$4,650.00
		Install CITY-supplied 10'						
		truss-type luminaire arm;						
	5454	complete as specified	Each	9.00	\$350.00	\$3,150.00	\$375.00	\$3,375.00
		Install CITY-supplied						
		cobra head luminaire;						
	5460	complete as specified	Each	9.00	\$200.00	\$1,800.00	\$210.00	\$1,890.00
		Install CITY-supplied 20'						
		tapered pole with						
		transformer base;						
	5494	complete as specified	Each	9.00	\$750.00	\$6,750.00	\$775.00	\$6,975.00
		Furnish and install Type 5						
		base; complete as						
	5504	specified	Each	14.00	\$1,075.00	\$15,050.00	\$1,125.00	\$15,750.00
		Furnish and install Type 9						
	==0.6	base; complete as		1 4 6 6	40.000	40.000	40.000.00	40
Diam . I	5506	specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00
Bid Total:						\$2,100,377.57		\$2,235,415.02

Contract 24-12 - East 7th A	venue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
·								
Bid Opening: 04/01/2024 1	1:00 AM CDT							
1 0								
					DON E. PARKER EXC	CAVATING INC.	PTS Contr	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1		N 1 12 1 .				\$2,253,513.10		\$2,376,000.00
	1050	Mobilization; complete as		1.00	#1 CF 1F1 00	Ø1 (F. 151 00	#222 544 50	#200 F44 F6
	1050	specified	Lump Sum	1.00	\$165,171.00	\$165,171.00	\$232,544.78	\$232,544.78
	1100	Removing pavement;	C V 1 -	1 450 00	¢1.05	#1 F22 F0	¢1.00	¢1.450.00
	1100	complete as specified Removing curb and	Square Yards	1,450.00	\$1.05	\$1,522.50	\$1.00	\$1,450.00
		U						
	1110	gutter; complete as	LinconFoot	2 440 00	¢1.05	#2 F(2 00	¢1.00	¢2 440 00
	1110	specified Removing concrete and	Linear Feet	2,440.00	\$1.05	\$2,562.00	\$1.00	\$2,440.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Causes East	21,000.00	\$0.63	\$13,230.00	\$0.60	\$12,600.00
	1120	Unclassified excavation;	Square Feet	21,000.00	Ф0.03	\$13,230.00	\$0.00	\$12,000.00
	1200	complete as specified	Cubic Yards	2,370.00	\$23.00	\$54,510.00	\$22.50	\$53,325.00
	1200	Excavation special	Cubic Talus	2,370.00	\$25.00	\$54,510.00	Ψ22.30	φ33,323.00
		(paving); complete as						
	1220	specified	Tons	500.00	\$0.01	\$5.00	\$0.01	\$5.00
	1220	7" concrete pavement;	10113	300.00	ψ0.01	ψ3.00	ψ0.01	φ5.00
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	3,830.00	\$58.32	\$223,365.60	\$57.10	\$218,693.00
		7" concrete pavement	- 1	0,000.00	40002	<del>+===</del> )======	441.120	4==0,010101
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	350.00	\$62.52	\$21,882.00	\$61.20	\$21,420.0
		8" concrete pavement;	1		,	, , , , , , , , , , , , , , , , , , , ,	4	, , , , , , , , , , , , , , , , , , , ,
		with 6" CABC and						
		grading; complete as						
	1311	specified	Square Yards	430.00	\$79.10	\$34,013.00	\$77.50	\$33,325.00
		8" concrete pavement	1		•	. ,	·	<u> </u>
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	570.00	\$83.30	\$47,481.00	\$81.60	\$46,512.00
		Concrete pavement gaps;	-					
	1334	complete as specified	Each	2.00	\$0.01	\$0.02	\$1.00	\$2.00
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	780.00	\$14.18	\$11,060.40	\$13.90	\$10,842.00
		Pavement ties; complete						
	1350	as specified	Each	250.00	\$8.92	\$2,230.00	\$8.70	\$2,175.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	1482)					
Owner: Oshkosh WI, City o			1102)					
Solicitor: Oshkosh WI, City								
oncioi. Oshkosh vvi, City	7 01							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
514 Opening. 01/01/202111	I CO TIM CD I			1				
				+	DON E. PARKER EX	CAVATING INC	PTS Contr	actors Inc
					DOIVE. TARKER EX	CAVAIING INC.	115 Contr	actors, mc
o d mid			** **	0 111		T	V. 1. D.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	1050	Drilled dowel bars; 1";	Е 1	26.00	014.70	Ф202.20	Ø1.4.40	ФО <b>Т</b> А 44
	1352	complete as specified	Each	26.00	\$14.70	\$382.20	\$14.40	\$374.40
	1054	Drilled dowel bars; 1 1/4";	Е 1	260.00	#17.00	#4 F0F 00	#17.00	#4.4 <b>2</b> 0.00
	1354	complete as specified	Each	260.00	\$17.33	\$4,505.80	\$17.00	\$4,420.00
		Adjust manholes and						
	1240	inlets; complete as		4= 00	2446.25	420.050 55	# <b>19</b> = 00	440.0== 0
	1360	specified Turf restoration;	Each	47.00	\$446.25	\$20,973.75	\$425.00	\$19,975.00
	1270	,		2 =00 00	#0.40	422 400 00	#4.00	440.240.04
	1370	complete as specified	Square Yards	2,700.00	\$8.40	\$22,680.00	\$6.80	\$18,360.00
		Restore gravel						
	1070	driveway/apron;		220.00	44 = 22	#2 <b>=</b> 22 00	## 4 00	42.425.0
	1372	complete as specified Cold weather covering	Square Yards	230.00	\$15.23	\$3,502.90	\$14.90	\$3,427.0
		(concrete pavement) -						
	1200	single visquine; complete		<b>505</b> 00	40.04		40.04	<b>*= 0</b> =
	1380	as specified Cold weather covering	Square Yards	735.00	\$0.01	\$7.35	\$0.01	\$7.35
		(concrete pavement) -						
	1000	double visquine;	6 2/ 1	F25 00	do 01	#F 05	do 01	<b>Φ</b> Ε 0.5
	1382	complete as specified	Square Yards	735.00	\$0.01	\$7.35	\$0.01	\$7.35
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as			***		** **	
	1390	specified	Cubic Yards	145.00	\$10.50	\$1,522.50	\$1.00	\$145.00
		12" radius curb with 6"						
		CABC and grading;			****		****	
	1410	complete as specified	Linear Feet	425.00	\$14.70	\$6,247.50	\$14.40	\$6,120.0
		30" curb and gutter; 7";						
		with 5" CABC and						
	4.40	grading; complete as		1.500	4=4	AP 200 00		AB 4 12 A
	1440	specified	Linear Feet	145.00	\$50.40	\$7,308.00	\$49.40	\$7,163.00
	1460	Sidewalk curb; complete		00.00	0.17.00	40 == : 00	# 4 4 A A A	#C <00 0
	1460	as specified	Linear Feet	80.00	\$47.20	\$3,776.00	\$46.00	\$3,680.00
		4" concrete sidewalk with						
	4=00	3" CABC and grading;		11 000 00	*= **	********	Apr. **	400 0
	1500	complete as specified	Square Feet	11,800.00	\$7.98	\$94,164.00	\$7.80	\$92,040.00
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	5,200.00	\$8.24	\$42,848.00	\$8.00	\$41,600.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	1482)					
Owner: Oshkosh WI, City o			,					
Solicitor: Oshkosh WI, City								
onenon Conkoon VII, City								
id Opening: 04/01/2024 11	·00 AM CDT							
14 Opening. 01/01/2021 11				1				
				+	DON E. PARKER EX	CAVATING INC	PTS Contra	octors Inc
					DOIVE. TARKER EX	CAVAIING INC.	1 15 COMM	ictors, mc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	1,010.00	\$8.51	\$8,595.10	\$8.30	\$8,383.00
<u> </u>		6" concrete step; complete	<u> </u>					<u> </u>
	1530	as specified	Square Feet	245.00	\$63.00	\$15,435.00	\$62.00	\$15,190.00
		Curb ramp detectable		I T				
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	90.00	\$42.00	\$3,780.00	\$41.00	\$3,690.00
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	2,800.00	\$2.10	\$5,880.00	\$2.00	\$5,600.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	135.00	\$8.40	\$1,134.00	\$8.00	\$1,080.00
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	2,700.00	\$0.01	\$27.00	\$0.01	\$27.00
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	2,700.00	\$0.01	\$27.00	\$0.01	\$27.00
		Cold weather covering	-					
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	2,840.00	\$0.02	\$56.80	\$0.01	\$28.4
		Up-charge for late season	-					
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	38.00	\$12.60	\$478.80	\$0.01	\$0.38
		Locate existing property		1				
		monuments; complete as						
	1650	specified	Each	16.00	\$47.62	\$761.92	\$46.00	\$736.0
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	16.00	\$50.72	\$811.52	\$49.00	\$784.00

Contract 24-12 - East 7th Ave	nue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City								
3id Opening: 04/01/2024 11:0	00 AM CDT							
	1							
					DON E. PARKER EX	CAVATING INC	PTS Contra	actors Inc
					DOIVE.THAKERE	terriring live.	115 contr	ictors, inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	700.00	\$5.00	\$3,500.00	\$2.00	\$1,400.00
		Sawing concrete				. ,	·	· /
		pavement full depth;						
	1710	complete as specified	Linear Feet	1,000.00	\$6.00	\$6,000.00	\$2.50	\$2,500.00
		Tack coat; complete as		ĺ	·	. ,	·	
	1900	specified	Gallons	26.00	\$6.04	\$157.04	\$5.90	\$153.40
		4" asphaltic transition LT			1	,	,	,
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	195.00	\$65.77	\$12,825.15	\$64.40	\$12,558.00
		4" asphaltic surface LT	1		·	. ,	·	
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	165.00	\$63.50	\$10,477.50	\$62.20	\$10,263.00
		2" asphaltic surface LT	1		·	. ,	·	
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	46.00	\$68.75	\$3,162.50	\$67.40	\$3,100.40
		Asphaltic cold weather	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		,	, , , , , , , , ,	4	12, 22.
		paving up-charge;						
	1918	complete as specified	Square Yards	54.00	\$30.19	\$1,630.26	\$0.01	\$0.54
		Furnish and install 8"	- 1		444127	4-/****	4000	4.10
		storm sewer; complete as						
	2001	specified	Linear Feet	10.00	\$111.60	\$1,116.00	\$136.00	\$1,360.00
	2001	Furnish and install 10"	Zinear rect	10.00	\$111.00	\$1,110.00	Ψ100.00	\$1,000.00
		storm sewer; complete as						
	2002	specified	Linear Feet	70.00	\$92.50	\$6,475.00	\$128.00	\$8,960.00
	2002	Furnish and install 12"	Zincui i ccc	70.00	\$72.00	φο,17 σ.0σ	\$120.00	\$0,500.00
		storm sewer; complete as						
	2003	specified	Linear Feet	230.00	\$78.20	\$17,986.00	\$103.00	\$23,690.00
	2000	Furnish and install 15"	Zincui i cet	250.00	φ, σ.20	φ17,700.00	φ103.00	Ψ20,090.00
	1	storm sewer; complete as						
	2006	specified	Linear Feet	60.00	\$91.85	\$5,511.00	\$107.00	\$6,420.00
	2000	Furnish and install 15"	Zincui i cct	00.00	ψ>1.03	ψ0,011.00	Ψ107.00	ψ0,120.00
		RCP Class III storm						
		sewer; complete as						
	2007	specified	Linear Feet	60.00	\$102.00	\$6,120.00	\$132.00	\$7,920.00

Contract 24-12 - East 7th Ave	enue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City o			<u>-</u>					
Solicitor: Oshkosh WI, City								
outerior connect viry city	1							
Bid Opening: 04/01/2024 11:	00 AM CDT							
Dia opening, on on a contract	1							
					DON E. PARKER EX	CAVATING INC	PTS Contra	ctors Inc
					DOIVE: ITMIKEK E	terryrinto irte.	113 Contra	ictors, me
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem coue	Furnish and install 18"	001111	Quantity	CIRC FIRE	Extension	Cint Title	Extension
		storm sewer; complete as						
	2009	specified	Linear Feet	190.00	\$86.10	\$16,359.00	\$105.00	\$19,950.00
	2009	Furnish and install 21"	Linear reet	150.00	\$60.10	\$10,339.00	\$103.00	\$19,950.00
		storm sewer; complete as						
	2012	specified	Linear Feet	15.00	\$137.45	\$2,061.75	\$196.00	\$2,940.00
	2012	Furnish and install 24"	Linear reet	15.00	φ137.43	₽∠,001./3	φ190.00	⊅∠,940.00
		storm sewer; complete as						
	2015	•	LinconFoot	500.00	¢104.40	#F2 200 00	¢100.00	ΦΕ4 000 00
	2015	specified Furnish and install 24"	Linear Feet	500.00	\$104.40	\$52,200.00	\$108.00	\$54,000.00
		RCP Class III storm						
	2016	sewer; complete as		2=0.00	#400.05	420.252.50	#44.6.00	****
	2016	specified Furnish and install 43" x	Linear Feet	350.00	\$109.35	\$38,272.50	\$116.00	\$40,600.00
		68" HERCP Class III						
		storm sewer; complete as						
	2057	specified	Linear Feet	200.00	\$383.40	\$76,680.00	\$352.00	\$70,400.00
		Furnish and install						
		standard storm sewer						
		manhole (2' diameter);						
	2200	complete as specified	Vertical Feet	3.25	\$396.00	\$1,287.00	\$484.00	\$1,573.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	36.50	\$818.90	\$29,889.85	\$720.00	\$26,280.00
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	7.25	\$964.60	\$6,993.35	\$820.00	\$5,945.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.25	\$798.55	\$3,393.84	\$920.00	\$3,910.00
		Furnish and install storm						
		sewer junction chamber						
		G-10; complete as						
	2225A	specified	Each	1.00	\$18,100.00	\$18,100.00	\$18,000.00	\$18,000.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 04/01/2024 11	1:00 AM CDT							
0								
					DON E. PARKER EXC	CAVATING INC	PTS Contra	ctors Inc
					JOIN E, TIMMEEN ESK	CITTIE TO IT CO	110 001111	ctors, me
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	Furnish and install storm	COLIVI	Qualitity	OllitTite	Extension	Office	Extension
		sewer junction chamber						
		G-11; complete as						
	2225B	specified	E a ala	1.00	\$16,328.00	\$16,328.00	\$13,420.00	\$13,420.0
	2223B	Furnish and install Type 3	Each	1.00	\$10,326.00	\$10,326.00	\$13,420.00	\$13,420.0
		1						
	2227	inlet (with 18" sump);	г. 1	15.00	#2.012.00	#4F 10F 00	#2 700 00	#40 500 0
	2237	complete as specified	Each	15.00	\$3,013.00	\$45,195.00	\$2,700.00	\$40,500.0
		Furnish and install 6"						
		storm sewer lateral;			****		****	
	2400	complete as specified	Linear Feet	850.00	\$66.85	\$56,822.50	\$66.00	\$56,100.0
		Furnish and install 8"						
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	10.00	\$156.70	\$1,567.00	\$131.00	\$1,310.0
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	56.00	\$31.00	\$1,736.00	\$42.00	\$2,352.0
		Furnish and install storm						
		sewer clay dams;						
	2406	complete as specified	Each	28.00	\$120.00	\$3,360.00	\$86.00	\$2,408.0
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	24.00	\$1,035.00	\$24,840.00	\$950.00	\$22,800.0
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	10.00	\$110.00	\$1,100.00	\$1.00	\$10.0
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	50.00	\$78.75	\$3,937.50	\$77.00	\$3,850.0
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	50.00	\$1.05	\$52.50	\$30.00	\$1,500.0
		Furnish; install; maintain;		<del>                                     </del>				.,
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	2.00	\$750.00	\$1,500.00	\$1.00	\$2.0
	2012	Furnish; install; maintain;	Lucii	2.00	ψ, 50.00	ψ1,000.00	Ψ1.00	Ψ2.0
		and remove stone bag;						
	2516	complete as specified	Each	50.00	\$10.50	\$525.00	\$11.30	\$565.0

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
wner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit								
,	, -							
id Opening: 04/01/2024 1	1:00 AM CDT							
ia opening. 01/01/20211	100111111111111111111111111111111111111							
					DON E. PARKER EX	CAVATING INC	PTS Contra	ctors Inc
					DOIVE.TARRENEA	CAVAIII OII C.	115 Contra	ctors, mc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish; install; maintain;						
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	100.00	\$9.45	\$945.00	\$6.30	\$630.0
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	1.00	\$2,500.00	\$2,500.00	\$1,085.00	\$1,085.0
		Abandon 8" - 12" storm			<del>+-/</del>	<del>+=,=====</del>	4-,	4-,500.0
		sewer; complete as						
	2800	specified	Linear Feet	400.00	\$14.00	\$5,600.00	\$5.80	\$2,320.0
	2000	Abandon 15" and larger	Effical Feet	100.00	ψ11.00	ψο,οσο.σσ	ψο.ου	Ψ2,020.0
		storm sewer; complete as						
	2802	specified	Lincon Foot	200.00	\$30.00	\$6,000.00	\$31.00	¢6.200.0
	2002	Remove 30" and smaller	Linear Feet	200.00	\$30.00	\$6,000.00	\$31.00	\$6,200.0
	2004	storm sewer; complete as		240.00	425.00	#0.400.00	424.00	AT 440.0
	2804	specified	Linear Feet	240.00	\$35.00	\$8,400.00	\$31.00	\$7,440.0
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	8.00	\$375.00	\$3,000.00	\$290.00	\$2,320.0
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	6.00	\$525.00	\$3,150.00	\$290.00	\$1,740.0
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	9.00	\$1,253.00	\$11,277.00	\$1,740.00	\$15,660.0
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	4.00	\$375.00	\$1,500.00	\$190.00	\$760.0
		Connect lateral to existing				·		
		storm sewer main;						
	2854	complete as specified	Each	2.00	\$810.00	\$1,620.00	\$290.00	\$580.0
		Connect to existing storm			4	4-,	4=- 0.00	430010
		sewer manhole; complete						
	2856	as specified	Each	3.00	\$750.00	\$2,250.00	\$1,930.00	\$5,790.0
	2000	Storm sewer utility line	Latti	3.00	φ7 30.00	φ2,230.00	φ1,230.00	ψυ,7 90.0
		opening (ULO); complete						
	2014		Fa -1-	2.00	#FF0 00	¢1 F00 00	¢1.00	<b>#0.</b> (
	2914	as specified	Each	2.00	\$750.00	\$1,500.00	\$1.00	\$2.0
		Excavation special						
		(storm); complete as		1				
	2950	specified	Tons	200.00	\$18.50	\$3,700.00	\$58.00	\$11,600.0

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City								
olicitor: Oshkosh WI, Cit								
,,	1			<del> </del>				
Bid Opening: 04/01/2024 1	1:00 AM CDT			<del> </del>				
9								
					DON E. PARKER EX	CAVATING INC.	PTS Contra	ctors. Inc
				+	DOI'VE THRIKER EX	enviinto irte.	115 Contra	ctors, rice
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Bentonite slurry dam		~				
		(storm); complete as						
	2952	specified	Each	2.00	\$850.00	\$1,700.00	\$108.00	\$216.0
	2,02	Furnish and install 8"	Lucii	2.00	\$000.00	<i>\$177.00.00</i>	\$100.00	<b>\$210.0</b>
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	1,215.00	\$109.95	\$133,589.25	\$134.00	\$162,810.0
	5000	Furnish and install 12"	Efficial Feet	1,210.00	φ107.70	φ100,007.20	Ψ101.00	ψ102,010.0
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	15.00	\$169.70	\$2,545.50	\$536.00	\$8,040.0
	5001	Furnish and install 8"	Efficial Feet	15.00	\$105.70	Ψ2,010.00	фесс.ос	φ0,010.0
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	13.00	\$346.00	\$4,498.00	\$886.00	\$11,518.0
	3060	Furnish and install	vertical reet	13.00	\$340.00	Φ <del>4</del> ,490.00	\$666.00	\$11,516.0
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	102.00	\$484.35	\$49,403.70	\$544.00	\$55,488.0
	3100	Furnish and install	vertical reet	102.00	Ф <del>404.33</del>	\$49,403.70	\$344.00	\$33,466.0
		sanitary sewer external						
		manhole chimney seal;						
	2114	I	Eash	9.00	\$578.00	¢= 202.00	¢565.00	¢E 00E 0
	3114	complete as specified Furnish and install	Each	9.00	\$378.00	\$5,202.00	\$565.00	\$5,085.0
		sanitary sewer external						
		manhole chimney seal						
		1						
	2116	extension; complete as	T. J.	2.00	¢525.00	¢1.050.00	¢514.00	¢1 020 0
	3116	specified Furnish and install 8" x 6"	Each	2.00	\$525.00	\$1,050.00	\$514.00	\$1,028.0
		sanitary sewer factory						
	2210	wyes or tees; complete as	Tl-	20.00	#211 FO	фЕ 0 <b>22</b> 00	#150.00	#4. <b>2</b> 00.0
	3210	specified Furnish and install 4"	Each	28.00	\$211.50	\$5,922.00	\$150.00	\$4,200.0
		sanitary sewer laterals						
		1 1						
	2222	(new); complete as			na contra	40.010.70		4e
	3230	specified	Linear Feet	30.00	\$110.35	\$3,310.50	\$117.00	\$3,510.0
		Furnish and install 4"						
		sanitary sewer riser						
	2021	(new); complete as			405:		man = ==	
	3231	specified	Linear Feet	2.00	\$224.25	\$448.50	\$102.00	\$204.0
		Furnish and install 6"						
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	30.00	\$113.10	\$3,393.00	\$122.00	\$3,660.0

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#901	1482)					
Owner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit	y of							
· · · · · · · · · · · · · · · · · · ·								
Bid Opening: 04/01/2024 1	1:00 AM CDT							
				1	DON E. PARKER EX	CAVATING INC.	PTS Contra	ctors, Inc
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		sanitary sewer riser						
		(new); complete as						
	3233	specified	Linear Feet	2.00	\$237.20	\$474.40	\$122.00	\$244.0
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	800.00	\$115.70	\$92,560.00	\$123.00	\$98,400.00
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	50.00	\$117.60	\$5,880.00	\$112.00	\$5,600.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	56.00	\$31.00	\$1,736.00	\$48.00	\$2,688.00
		Furnish and install clay						•
		dams; complete as						
	3238	specified	Each	28.00	\$110.00	\$3,080.00	\$86.00	\$2,408.0
		Furnish and install			,	, , ,	,	, ,
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	2.00	\$1,552.00	\$3,104.00	\$1,800.00	\$3,600.00
	3300	Furnish and install	Lucii	2.00	\$1)00 <b>2</b> .00	\$5,101.00	\$1,000.00	40,000.0
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	3.00	\$1,700.00	\$5,100.00	\$1,823.00	\$5,469.00
	3304	Furnish and install	Each	3.00	\$1,700.00	\$5,100.00	\$1,823.00	\$3,407.00
		sanitary sewer concrete						
		collars; complete as						
	3330	-	Each	2.00	\$750.00	\$1,500.00	\$2,167.00	\$4,334.00
	3330	specified Furnish and install 10"	Eacn	2.00	\$750.00	\$1,300.00	\$2,167.00	\$4,334.00
		sanitary sewer open cut						
	2404	casing pipes; complete as	Linnar	20.00	d044.05	#4 <b>2</b> 00 00	#1/2.00	#2.260.00
	3404	specified Furnish and install 18"	Linear Feet	20.00	\$214.95	\$4,299.00	\$163.00	\$3,260.0
		sanitary sewer open cut						
		casing pipes; complete as						
	3410	specified	Linear Feet	15.00	\$182.00	\$2,730.00	\$267.00	\$4,005.00
		Rock excavation;						
	3600	complete as specified	Cubic Yards	25.00	\$20.00	\$500.00	\$202.00	\$5,050.0

4/1/2024

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City o			<u>-</u>					
olicitor: Oshkosh WI, City								
· · ·								
id Opening: 04/01/2024 11	1:00 AM CDT							
	1							
					DON E. PARKER EX	CAVATING INC	PTS Contra	octors Inc
					DON E. I MIKELY EX	tenvarinto inte.	115 CORTA	ictors, mc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	1,230.00	\$1.32	\$1,623.60	\$1.30	\$1,599.0
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	4.00	\$250.00	\$1,000.00	\$1.00	\$4.0
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	2.00	\$500.00	\$1,000.00	\$290.00	\$580.0
	2000	Abandon 8" sanitary	Dater	2.00	\$000.00	\$1,000.00	φ250.00	4000.0
		sewer; complete as						
	3802	specified	Linear Feet	58.00	\$10.00	\$580.00	\$23.00	\$1,334.0
	3602	Abandon 10" sanitary	Linear Feet	36.00	\$10.00	\$380.00	\$23.00	\$1,004.0
		sewer; complete as						
	3804	specified	Lincon Foot	183.00	\$9.00	¢1.647.00	\$23.00	¢4 200 0
	3804	Remove sanitary sewer;	Linear Feet	183.00	\$9.00	\$1,647.00	\$23.00	\$4,209.0
	2054	1	T. F.	71.00	#25.00	#2 405 00	#42.00	ф2 0 <b>52</b> 0
	3854	complete as specified	Linear Feet	71.00	\$35.00	\$2,485.00	\$43.00	\$3,053.0
		Sanitary sewer utility line						
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$1,200.00	\$2,400.00	\$1.00	\$2.0
		Excavation special						
		(sanitary); complete as						
	3892	specified	Tons	105.00	\$18.50	\$1,942.50	\$58.00	\$6,090.0
		Bentonite slurry dam						
		(sanitary); complete as						
	3894	specified	Each	2.00	\$750.00	\$1,500.00	\$162.00	\$324.0
		Furnish and install 4"						
		ductile iron water main						
		(relay) with polywrap;						
	4000	complete as specified	Linear Feet	30.00	\$211.00	\$6,330.00	\$188.00	\$5,640.0
		Furnish and install 6"			, 100	, -,	,	1-,
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	115.00	\$156.25	\$17,968.75	\$160.00	\$18,400.0
	4002	Furnish and install 8"	Linear rect	115.00	ψ130,23	ψ17,700.73	ψ100.00	ψ10,400.0
		ductile iron water main						
	4004	(relay) with polywrap;	Linos Foot	1 101 00	¢105 70	#120 20E F0	¢120.00	¢1E1 000 0
	4004	complete as specified Furnish and install 10"	Linear Feet	1,101.00	\$125.70	\$138,395.70	\$138.00	\$151,938.0
		ductile iron water main						
		(relay) with polywrap;						
	4006	complete as specified	Linear Feet	30.00	\$226.90	\$6,807.00	\$208.00	\$6,240.0

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City o		,	- ,					
Solicitor: Oshkosh WI, City								
onenon common 111, en								
Bid Opening: 04/01/2024 11	1:00 AM CDT							
514 opening, 01/01/202111	10011111 CD1							
					DON E. PARKER EX	CAVATING INC	PTS Contra	ctors Inc
					DOIVE, TARRER EX	ich villa de la co	115 contia	ctors, inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install new 6"						
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	35.00	\$201.25	\$7,043.75	\$179.00	\$6,265.00
		Furnish and install new 8"						
		ductile iron water main						
		with polywrap; complete						
	4022	as specified	Linear Feet	150.00	\$191.70	\$28,755.00	\$199.00	\$29,850.00
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	700.00	\$84.05	\$58,835.00	\$103.00	\$72,100.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	40.00	\$84.05	\$3,362.00	\$103.00	\$4,120.00
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	25.00	\$582.00	\$14,550.00	\$694.00	\$17,350.00
		Furnish and install water						
		service clay dams;						
	4055	complete as specified	Each	25.00	\$110.00	\$2,750.00	\$86.00	\$2,150.00
		Furnish and install						
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$2,686.00	\$2,686.00	\$1,950.00	\$1,950.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	1.00	\$2,760.00	\$2,760.00	\$2,613.00	\$2,613.00
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	2.00	\$2,845.00	\$5,690.00	\$2,714.00	\$5,428.00
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	2.00	\$3,990.00	\$7,980.00	\$3,166.00	\$6,332.00
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	3.00	\$925.00	\$2,775.00	\$741.00	\$2,223.00

Contract 24-12 - East 7th Aven Owner: Oshkosh WI, City of Solicitor: Oshkosh WI, City of		·						
onenon commodi, en, c								
	<u> </u>							
3id Opening: 04/01/2024 11:00	O AM CDT							
ora opening, or	1							
					DON E. PARKER EXC.	AVATING INC	PTS Contracto	ors Inc
					DOIVE.TTIMMER EXC.	ATTITITION C.	115 contracto	,, inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	3.00	\$990.00	\$2,970.00	\$814.00	\$2,442.00
		Furnish and install 8" x			·		·	· · · · · · · · · · · · · · · · · · ·
		10" water main tee;						
	4112	complete as specified	Each	1.00	\$1,225.00	\$1,225.00	\$1,074.00	\$1,074.00
		Furnish and install 4" 45			.,	. ,	. ,	. ,
		degree water main bend;						
	4235	complete as specified	Each	4.00	\$726.00	\$2,904.00	\$287.00	\$1,148.00
_		Furnish and install 6" 45			·		·	. ,
		degree water main bend;						
	4236	complete as specified	Each	14.00	\$600.00	\$8,400.00	\$343.00	\$4,802.00
		Furnish and install 10" 45			400000	40,20000	44.2010	4 -/
		degree water main bend;						
	4238	complete as specified	Each	4.00	\$1,365.00	\$5,460.00	\$642.00	\$2,568.00
	1200	Furnish and install 6"	- Lucii	1.00	\$1,000.00	φο/100.00	ψ012.00	\$ <b>2</b> ,000.00
		water main cap; complete						
	4254	as specified	Each	2.00	\$1,520.00	\$3,040.00	\$2,012.00	\$4,024.00
	1201	Furnish and install 8"	- Lucii	2.00	\$1,020.00	φο/ο 10.00	\$2)012.00	ψ1/021100
		water main cap; complete						
	4255	as specified	Each	1.00	\$435.00	\$435.00	\$1,974.00	\$1,974.00
	1200	Furnish and install 8" x 4"	Lucii	1.00	ψ100.00	Ψ100.00	Ψ1,57 1.00	ψ1,57 1.00
		water main reducer;						
	4263	complete as specified	Each	1.00	\$623.00	\$623.00	\$396.00	\$396.00
	1200	Furnish and install 8" x 6"	Lucii	1.00	ψ020.00	φ023.30	ф570.00	φονοίος
		water main reducer;						
	4264	complete as specified	Each	2.00	\$645.00	\$1,290.00	\$422.00	\$844.00
	1201	Furnish and install 8"	Lucii	2.00	φ015.00	ψ1,230.00	ψ122.00	φ011.00
		water main plug;						
	4309	complete as specified	Each	1.00	\$370.00	\$370.00	\$281.00	\$281.00
	1507	Cut and cap existing 6"	Lucii	1.00	ψ57 0.00	ψ57 0.00	ψ201.00	Ψ201.00
		water main; complete as						
	4352	specified	Each	2.00	\$895.00	\$1,790.00	\$1,900.00	\$3,800.00
	4002	Cut and cap existing 8"	Lacii	2.00	ψ0.55.00	ψ1,7 70.00	Ψ1,200.00	ψο,000.00
		water main; complete as						
	4354	specified	Each	2.00	\$1,710.00	\$3,420.00	\$1,980.00	\$3,960.00
	4334	Cut and cap existing 10"	EaCH	2.00	\$1,710.00	φ3, <del>4</del> 20.00	\$1,700.00	\$3,700.00
		water main; complete as						
	4356	specified	Each	2.00	\$2,755.00	\$5,510.00	\$2,029.00	\$4,058.00

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City		(	- ,					
Solicitor: Oshkosh WI, City								
Solicitori Solitioni VII) Chi	, 01							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
Dia Opening. 01/01/2021 11	I CO TIVI CD I							
				+	DON E. PARKER EX	YCAVATING INC	PTS Contra	octors Inc
					DOIN E. I ARREIN EZ	CAVAIING INC.	113 Contra	ictors, mc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$2,031.00	\$8,124.00	\$1,887.00	\$7,548.00
		Furnish and install 8"						
		water main gate valve;						
	4402	complete as specified	Each	10.00	\$2,674.00	\$26,740.00	\$2,696.00	\$26,960.00
		Furnish and install 10"						
		water main gate valve;						
	4403	complete as specified	Each	2.00	\$3,690.00	\$7,380.00	\$3,808.00	\$7,616.00
		Furnish and install 10" x						
		6" tapping valve and						
		sleeve; complete as						
	4437	specified	Each	1.00	\$5,860.00	\$5,860.00	\$2,896.00	\$2,896.00
		Furnish and install 10" x				·		·
		8" tapping valve and						
		sleeve; complete as						
	4438	specified	Each	1.00	\$6,660.00	\$6,660.00	\$2,896.00	\$2,896.00
		Furnish and install			1.,	,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, ,
		hydrant; complete as						
	4500	specified	Each	4.00	\$5,780.00	\$23,120.00	\$5,687.00	\$22,748.00
		Furnish and install 2"			40,00000	4-0,0.00	40,000	<del>+</del>
		water main casing pipe;						
	4712	complete as specified	Linear Feet	20.00	\$28.20	\$564.00	\$28.00	\$560.00
		Furnish and install 18"			4	400 3000	4-2100	400000
		water main casing pipe;						
	4726	complete as specified	Linear Feet	15.00	\$182.00	\$2,730.00	\$267.00	\$4,005.00
	1, 20	Rock excavation;	Efficial Teet	10.00	\$102.00	<i>\$27.00.00</i>	φ=07.00	\$ 1,000.00
	4800	complete as specified	Cubic Yards	20.00	\$20.00	\$400.00	\$202.00	\$4,040.00
	1000	Abandon water main on	Cubic Turus	20.00	\$20.00	\$100.00	Ψ=0=.00	\$ 1,0 10.00
		Grand Street; complete as						
	4900	specified	Lump Sum	1.00	\$2,200.00	\$2,200.00	\$2,896.00	\$2,896.00
	4700	Abandon water main on	Lump Jum	1.00	Ψ2,200.00	ΨΔ,200.00	Ψ2,070.00	Ψ2,090.00
		East 7th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$1,500.00	\$1,500.00	\$580.00	\$580.00
	4702	Remove water main;	Lump Jum	1.00	\$1,500.00	φ1,500.00	φυου.00	\$3 <b>00.</b> 00
	4920	complete as specified	Linear Feet	350.00	\$30.00	\$10,500.00	\$39.00	\$13,650.00
	4740	Excavation special	Lilleat Feet	330.00	,p30.00	\$10,300.00	<b></b> \$39.00	φ13,030.00
		(water); complete as						
	4990	·	Tons	100.00	¢10 E0	¢1 950 00	¢=0 00	¢E 000 00
	4990	specified	ions	100.00	\$18.50	\$1,850.00	\$58.00	\$5,800.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City o		,	- ,					
Solicitor: Oshkosh WI, City								
Solicitor. Collicosii 111, City	1							
Bid Opening: 04/01/2024 11	:00 AM CDT							
Did Opening. 04/01/2024 11	J. OO THIN CD I			+				
					DON E. PARKER EX	CAVATING INC	PTS Contra	store Inc
					DON E. FARRER EA	CAVATING INC.	r 15 Contra	ictors, inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Bentonite slurry dam						
		(water); complete as						
	4992	specified	Each	2.00	\$110.00	\$220.00	\$108.00	\$216.00
		Furnish and install pull						
		box (steel); 18" x 36";						
	5012	complete as specified	Each	16.00	\$1,312.50	\$21,000.00	\$1,285.00	\$20,560.00
		Adjust pull box; complete						
	5025	as specified	Each	16.00	\$78.75	\$1,260.00	\$5.00	\$80.00
		Remove concrete base;						
	5027	complete as specified	Each	3.00	\$210.00	\$630.00	\$205.00	\$615.00
		Install CITY-supplied						
		lighting control cabinet;						
	5051	complete as specified	Each	1.00	\$2,100.00	\$2,100.00	\$2,050.00	\$2,050.00
		Install electrical service;						
	5054	complete as specified	Each	1.00	\$2,362.50	\$2,362.50	\$2,310.00	\$2,310.00
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	2,130.00	\$14.70	\$31,311.00	\$14.00	\$29,820.00
		Connect to existing						
		conduit; complete as						
	5181	specified	Each	3.00	\$262.50	\$787.50	\$257.00	\$771.00
		Furnish and install 4						
		gauge red-coated wire;						
	5230	complete as specified	Linear Feet	2,890.00	\$2.63	\$7,600.70	\$2.60	\$7,514.00
		Furnish and install 4				·		·
		gauge black-coated wire;						
	5231	complete as specified	Linear Feet	2,890.00	\$2.63	\$7,600.70	\$2.60	\$7,514.00
		Furnish and install 10			·	. ,	· ·	· ,
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	2,350.00	\$1.00	\$2,350.00	\$1.00	\$2,350.00
		Furnish and install 12			·	. ,	· ·	· ,
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	440.00	\$0.84	\$369.60	\$0.80	\$352.00
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	440.00	\$0.84	\$369.60	\$0.80	\$352.00
		Furnish and install 12				4	1.100	1
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	440.00	\$0.84	\$369.60	\$0.80	\$352.00

Contract 24-12 - East 7th Aver	nue and Grand S	Street Reconstruction (#9014	482)					
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
Bid Opening: 04/01/2024 11:0	0 AM CDT							
					DON E. PARKER EX	CAVATING INC.	PTS Contr	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	28.00	\$57.75	\$1,617.00	\$57.00	\$1,596.00
		Furnish and install 2A						
		fuse; complete as						
	5386	specified	Each	28.00	\$5.25	\$147.00	\$5.00	\$140.00
		Install CITY-supplied						
		pole and pole top						
		luminaire; complete as						
	5410	specified	Each	6.00	\$787.50	\$4,725.00	\$770.00	\$4,620.00
		Install CITY-supplied 10'						
		truss-type luminaire arm;						
	5454	complete as specified	Each	9.00	\$367.50	\$3,307.50	\$360.00	\$3,240.00
		Install CITY-supplied						
		cobra head luminaire;						
	5460	complete as specified Install CITY-supplied 20'	Each	9.00	\$210.00	\$1,890.00	\$205.00	\$1,845.00
		tapered pole with						
		transformer base;						
	5494	complete as specified	Each	9.00	\$787.50	\$7,087.50	\$770.00	\$6,930.00
_	3494	Furnish and install Type 5	Each	9.00	\$767.30	\$7,067.50	\$770.00	\$6,930.00
		base; complete as						
		specified	Each	14.00	\$1,128.75	\$15,802.50	\$1,105.00	\$15,470.00
	5501	Furnish and install Type 9	Euch	11.00	ψ1,120.70	Ψ10,002.00	ψ1,100.00	Ψ10,170.00
		base; complete as						
	5506	specified	Each	1.00	\$2,100.00	\$2,100.00	\$2,060.00	\$2,060.00
Bid Total:					.,	\$2,253,513.10	. ,	\$2,376,000.00

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#901	4482)				1	
Owner: Oshkosh WI, City		Sirect Reconstruction (#501	1102)					
Solicitor: Oshkosh WI, City				+				
Solicitor. Oshkosh VVI, City	y 01 			+				
Bid Opening: 04/01/2024 1	1:00 AM CDT							
I 9,								
				+	Dorner	Inc.	DE GROC	OT. INC.
							DI GRO	77,210.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1		26.1.00				\$2,401,058.17		\$2,433,361.66
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$180,000.00	\$180,000.00	\$218,240.80	\$218,240.80
	1100	Removing pavement;		4 450 00	440.70	405.445.00	44.06	44 505 00
	1100	complete as specified	Square Yards	1,450.00	\$18.70	\$27,115.00	\$1.06	\$1,537.00
		Removing curb and						
	1110	gutter; complete as	T. F.	2 440 00	#0.50	#1 220 00	#1.06	#2 F04 40
	1110	specified Removing concrete and	Linear Feet	2,440.00	\$0.50	\$1,220.00	\$1.06	\$2,586.40
		asphalt sidewalk and						
	1120	driveway; complete as	Course Foot	21 000 00	¢0.20	#C 200 00	¢0.74	¢12.440.00
	1120	specified Unclassified excavation;	Square Feet	21,000.00	\$0.30	\$6,300.00	\$0.64	\$13,440.00
	1200	complete as specified	Cubic Yards	2,370.00	\$26.70	\$63,279.00	\$23.23	\$55,055.10
	1200	Excavation special	Cubic raius	2,370.00	\$20.70	\$03,279.00	\$23.23	\$33,033.10
		(paving); complete as						
	1220	specified	Tons	500.00	\$10.00	\$5,000.00	\$0.01	\$5.00
	1220	7" concrete pavement;	10115	300.00	\$10.00	\$5,000.00	\$0.01	\$5.00
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	3,830.00	\$59.90	\$229,417.00	\$58.90	\$225,587.00
	1501	7" concrete pavement	Square rares	5,050.00	φου.υσ	Ψ227,117.00	ф30.50	Ψ220,007.00
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	350.00	\$64.20	\$22,470.00	\$63.15	\$22,102.50
	1000	8" concrete pavement;	-1	333.50	ψ0 1.20	<b>422,1</b> 70.00	400.10	<i>\$22,132.00</i>
		with 6" CABC and						
		grading; complete as						
	1311	specified	Square Yards	430.00	\$81.20	\$34,916.00	\$79.89	\$34,352.70
		8" concrete pavement	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		,	,. ,.	,	1. /
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	570.00	\$85.40	\$48,678.00	\$84.13	\$47,954.10
		Concrete pavement gaps;	· ·			·		· .
	1334	complete as specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
		Crushed aggregate base		1				
		course; complete as						
	1340	specified	Tons	780.00	\$20.40	\$15,912.00	\$14.32	\$11,169.60
		Pavement ties; complete		1				
	1350	as specified	Each	250.00	\$9.00	\$2,250.00	\$9.02	\$2,255.00

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#901	4482)					
wner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, City	y of							
id Opening: 04/01/2024 11	1:00 AM CDT							
					Dorner	r Inc.	DE GROO	OT, INC.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem coue	Drilled dowel bars; 1";	COIN	Quantity	Olite Frice	Extension	Chitrite	Extension
	1352	complete as specified	Each	26.00	\$14.80	\$384.80	\$14.85	\$386.
	1332	Drilled dowel bars; 1 1/4";	Lacri	20.00	\$14.00	ψ304.00	ψ14.03	φ300.
	1354	complete as specified	Each	260.00	\$17.40	\$4,524.00	\$17.50	\$4,550.
	1334	Adjust manholes and	Each	200.00	\$17.40	\$4,324.00	Φ17.50	φ4,000.
		inlets; complete as						
	1360	specified	Each	47.00	\$504.00	\$23,688.00	\$450.71	\$21,183.
	1360	Turf restoration;	Each	47.00	\$304.00	\$23,666.00	\$450.71	\$21,100.
	1370	complete as specified	Square Yards	2,700.00	\$8.40	\$22,680.00	\$9.02	\$24,354.
	1370	Restore gravel	oquate ratus	2,700.00	\$6.40	\$22,680.00	\$9.02	\$24,334.
		driveway/apron;						
	1372	complete as specified	Carrago Vando	230.00	\$6.00	\$1,380.00	\$18.18	\$4,181
	13/2	Cold weather covering	Square Yards	230.00	\$6.00	\$1,360.00	\$10.10	₹,101
		(concrete pavement) -						
		-						
	1200	single visquine; complete	C V 1	705.00	40.01	ф <del>т</del> 25	#O 01	φπ
	1380	as specified  Cold weather covering	Square Yards	735.00	\$0.01	\$7.35	\$0.01	\$7.
		(concrete pavement) -						
		double visquine;						
	1202	-	C V 1 -	725.00	¢0.01	¢7.25	¢0.01	\$7.
	1382	complete as specified Up-charge for late season	Square Yards	735.00	\$0.01	\$7.35	\$0.01	\$7.
		cold weather concrete						
	1200	pavement; complete as	C 1: V 1	145.00	#10.60	#1 F2F 00	A11 11	d1 (10
	1390	specified	Cubic Yards	145.00	\$10.60	\$1,537.00	\$11.11	\$1,610
		12" radius curb with 6"						
	1410	CABC and grading;	T. F.	425.00	m1.100	A. 077 50	#4.4 O=	h < 044
	1410	complete as specified 30" curb and gutter; 7";	Linear Feet	425.00	\$14.30	\$6,077.50	\$14.85	\$6,311
		_						
		with 5" CABC and						
	4440	grading; complete as		4.500	***	## 00F = *	*=0 ***	45.00
	1440	specified	Linear Feet	145.00	\$49.90	\$7,235.50	\$50.90	\$7,380.
	4460	Sidewalk curb; complete		22.22	4.7.50	42 000 00	4.5.50	40.04=
	1460	as specified 4" concrete sidewalk with	Linear Feet	80.00	\$47.50	\$3,800.00	\$47.72	\$3,817
	4500	3" CABC and grading;	C E . 1	11 000 00	dc 00	#00.040.00	#0 oc	#OF 400
	1500	complete as specified 6" concrete sidewalk/	Square Feet	11,800.00	\$6.80	\$80,240.00	\$8.06	\$95,108
		driveway/ramp with 3"						
		CABC and grading;	-					
	1510	complete as specified	Square Feet	5,200.00	\$7.10	\$36,920.00	\$8.32	\$43,264.

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	4482)	1				
Owner: Oshkosh WI, City o			,	<del> </del>				
olicitor: Oshkosh WI, City								
oneitor. Ostrkosii 111, City	1							
id Opening: 04/01/2024 11	-00 AM CDT							
14 Opening. 01/01/202111	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2							
	+			+	Dorner	r Inc	DE GROO	T INC
					Donici	i IIIC.	DE GROO	1, 11(0.
				1				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	1,010.00	\$7.30	\$7,373.00	\$8.60	\$8,686.00
		6" concrete step; complete						
	1530	as specified	Square Feet	245.00	\$63.30	\$15,508.50	\$63.63	\$15,589.35
		Curb ramp detectable						
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	90.00	\$42.20	\$3,798.00	\$42.42	\$3,817.80
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	2,800.00	\$2.10	\$5,880.00	\$2.12	\$5,936.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	135.00	\$8.40	\$1,134.00	\$8.48	\$1,144.80
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	2,700.00	\$0.01	\$27.00	\$0.05	\$135.00
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	2,700.00	\$0.01	\$27.00	\$0.10	\$270.00
		Cold weather covering						
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	2,840.00	\$0.02	\$56.80	\$0.20	\$568.0
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	38.00	\$12.70	\$482.60	\$12.12	\$460.5
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	16.00	\$48.00	\$768.00	\$50.50	\$808.0
		Replace existing property	<u> </u>					·
		monuments; complete as						
	1652	specified	Each	16.00	\$51.00	\$816.00	\$55.55	\$888.8

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#901	4482)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 04/01/2024 11	1:00 AM CDT							
					Dorne	r Inc	DE GROC	OT INC
					Donie	i iic.	DE GROC	71,1140.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	700.00	\$2.40	\$1,680.00	\$5.05	\$3,535.00
		Sawing concrete						
		pavement full depth;						
	1710	complete as specified	Linear Feet	1,000.00	\$2.70	\$2,700.00	\$5.05	\$5,050.00
		Tack coat; complete as				-		
	1900	specified	Gallons	26.00	\$6.10	\$158.60	\$6.10	\$158.60
		4" asphaltic transition LT						
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	195.00	\$64.80	\$12,636.00	\$66.43	\$12,953.85
		4" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	165.00	\$60.30	\$9,949.50	\$69.44	\$11,457.60
		2" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	46.00	\$65.60	\$3,017.60	\$69.44	\$3,194.24
		Asphaltic cold weather						
		paving up-charge;						
	1918	complete as specified	Square Yards	54.00	\$30.40	\$1,641.60	\$30.49	\$1,646.46
		Furnish and install 8"						
		storm sewer; complete as						
	2001	specified	Linear Feet	10.00	\$105.00	\$1,050.00	\$87.87	\$878.70
		Furnish and install 10"						
		storm sewer; complete as						
	2002	specified	Linear Feet	70.00	\$87.00	\$6,090.00	\$88.86	\$6,220.20
		Furnish and install 12"						<u> </u>
		storm sewer; complete as						
	2003	specified	Linear Feet	230.00	\$72.00	\$16,560.00	\$83.37	\$19,175.10
		Furnish and install 15"						<u> </u>
		storm sewer; complete as						
	2006	specified	Linear Feet	60.00	\$75.00	\$4,500.00	\$91.38	\$5,482.80
		Furnish and install 15"						<u> </u>
		RCP Class III storm						
		sewer; complete as						
	2007	specified	Linear Feet	60.00	\$114.00	\$6,840.00	\$89.47	\$5,368.20

Contract 24-12 - East 7th Ave	nue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City of	f							
Solicitor: Oshkosh WI, City				1				
	1							
Bid Opening: 04/01/2024 11:0	00 AM CDT							
bia opening. 01/01/2021 11.	0071111 CD 1			1				
				+	Dorner	Inc	DE GROO	T INC
					Donner	IIIC.	DE GROO	1, INC.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Tiem coue	Furnish and install 18"	001111	Quantity	Cilit Titee	Extension	Cint Titee	Extension
		storm sewer; complete as						
	2009	specified	Linear Feet	190.00	\$91.00	\$17,290.00	\$64.82	\$12,315.80
	2009	Furnish and install 21"	Linear reet	190.00	\$91.00	\$17,290.00	\$04.02	\$12,515.00
		storm sewer; complete as						
	2012	specified	Linear Feet	15.00	\$187.00	\$2,805.00	\$103.12	\$1,546.80
	2012	Furnish and install 24"	Linear reet	15.00	\$107.00	\$2,005.00	\$103.12	\$1,340.00
		1						
	2015	storm sewer; complete as	Times Peet	500.00	¢100.00	¢Ε0 000 00	¢112.20	¢E( 10E 00
	2015	specified Furnish and install 24"	Linear Feet	500.00	\$100.00	\$50,000.00	\$112.39	\$56,195.00
		RCP Class III storm						
	2016	sewer; complete as		2=0.00	40.5.00	<b>#22</b> (22.00	#400.05	#20 4F4 00
	2016	specified	Linear Feet	350.00	\$96.00	\$33,600.00	\$109.86	\$38,451.00
		Furnish and install 43" x						
		68" HERCP Class III						
		storm sewer; complete as						
	2057	specified	Linear Feet	200.00	\$304.00	\$60,800.00	\$366.75	\$73,350.00
		Furnish and install						
		standard storm sewer						
		manhole (2' diameter);						
	2200	complete as specified	Vertical Feet	3.25	\$615.00	\$1,998.75	\$1,034.32	\$3,361.54
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	36.50	\$881.00	\$32,156.50	\$1,159.72	\$42,329.78
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	7.25	\$965.00	\$6,996.25	\$975.14	\$7,069.77
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.25	\$1,038.00	\$4,411.50	\$873.40	\$3,711.95
		Furnish and install storm						
		sewer junction chamber						
		G-10; complete as						
	2225A	specified	Each	1.00	\$16,855.00	\$16,855.00	\$17,783.91	\$17,783.91

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, City	v of							
id Opening: 04/01/2024 11	1:00 AM CDT							
8								
					Dorner 1	Inc.	DE GROC	T. INC.
					2 omer 2			1,11,01
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	Furnish and install storm	COLIVI	Qualitity	OmtTite	Extension	Office	Extension
		sewer junction chamber						
		G-11; complete as						
	2225B	specified	E a ala	1.00	¢14.210.00	\$14,319.00	#14 O1E 92	\$14,915.8
	2223B	Furnish and install Type 3	Each	1.00	\$14,319.00	\$14,319.00	\$14,915.82	\$14,913.0
		1						
	2227	inlet (with 18" sump);	г. 1	15.00	#2.226.00	#F0.040.00	#2.250.02	#E0 20E 2
	2237	complete as specified Furnish and install 6"	Each	15.00	\$3,336.00	\$50,040.00	\$3,359.02	\$50,385.3
		storm sewer lateral;			***			
	2400	complete as specified	Linear Feet	850.00	\$61.00	\$51,850.00	\$57.31	\$48,713.5
		Furnish and install 8"						
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	10.00	\$81.00	\$810.00	\$67.67	\$676.7
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	56.00	\$45.00	\$2,520.00	\$105.04	\$5,882.2
		Furnish and install storm						
		sewer clay dams;						
	2406	complete as specified	Each	28.00	\$122.00	\$3,416.00	\$353.50	\$9,898.0
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	24.00	\$1,331.00	\$31,944.00	\$1,336.23	\$32,069.5
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	10.00	\$147.00	\$1,470.00	\$227.25	\$2,272.5
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	50.00	\$121.00	\$6,050.00	\$79.54	\$3,977.0
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	50.00	\$16.00	\$800.00	\$31.82	\$1,591.0
		Furnish; install; maintain;		<del>                                     </del>				
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	2.00	\$1,267.00	\$2,534.00	\$1,515.00	\$3,030.0
		Furnish; install; maintain;		2.00	ψ1/201.00	\$2,00 I.00	\$2,010.00	φο,οσο.ο
		and remove stone bag;						
	2516	complete as specified	Each	50.00	\$16.00	\$800.00	\$12.73	\$636.5

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, City								
,								
id Opening: 04/01/2024 11	1:00 AM CDT							
1 0								
					Dorne	r Inc.	DE GROO	T. INC.
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish; install; maintain;						
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	100.00	\$11.00	\$1,100.00	\$6.69	\$669.0
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	1.00	\$3,695.00	\$3,695.00	\$22,725.00	\$22,725.0
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	400.00	\$5.00	\$2,000.00	\$7.58	\$3,032.0
		Abandon 15" and larger						
		storm sewer; complete as						
	2802	specified	Linear Feet	200.00	\$16.00	\$3,200.00	\$25.25	\$5,050.0
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	240.00	\$36.00	\$8,640.00	\$25.25	\$6,060.0
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	8.00	\$464.00	\$3,712.00	\$606.00	\$4,848.0
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	6.00	\$610.00	\$3,660.00	\$606.00	\$3,636.0
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	9.00	\$2,740.00	\$24,660.00	\$2,525.00	\$22,725.0
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	4.00	\$418.00	\$1,672.00	\$858.50	\$3,434.0
		Connect lateral to existing						
		storm sewer main;						
	2854	complete as specified	Each	2.00	\$975.00	\$1,950.00	\$656.50	\$1,313.0
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	3.00	\$2,903.00	\$8,709.00	\$2,525.00	\$7,575.0
		Storm sewer utility line			·			· · · · · · · · · · · · · · · · · · ·
		opening (ULO); complete						
	2914	as specified	Each	2.00	\$979.00	\$1,958.00	\$1,262.50	\$2,525.0
		Excavation special				.,		
		(storm); complete as						
	2950	specified	Tons	200.00	\$20.00	\$4,000.00	\$25.25	\$5,050.0

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#901	1482)					
Owner: Oshkosh WI, City								
olicitor: Oshkosh WI, Cit								
· · ·	1							
id Opening: 04/01/2024 1	1:00 AM CDT							
1 0								
					Dorne	r Inc.	DE GRO	OT, INC.
				1				,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Bentonite slurry dam						
		(storm); complete as						
	2952	specified	Each	2.00	\$569.00	\$1,138.00	\$1,262.50	\$2,525.0
		Furnish and install 8"						
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	1,215.00	\$155.00	\$188,325.00	\$112.92	\$137,197.8
		Furnish and install 12"						
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	15.00	\$134.00	\$2,010.00	\$160.17	\$2,402.5
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	13.00	\$765.00	\$9,945.00	\$555.50	\$7,221.5
		Furnish and install			·	. ,	·	···
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	102.00	\$646.00	\$65,892.00	\$595.33	\$60,723.66
		Furnish and install			,	,,	4	1.2,
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	9.00	\$581.00	\$5,229.00	\$559.54	\$5,035.8
	0111	Furnish and install	Lucii	7.00	φσσ1.σσ	φο/225.00	\$003.01	φογοσοιο
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$528.00	\$1,056.00	\$427.23	\$854.4
	3110	Furnish and install 8" x 6"	Each	2.00	\$526.00	φ1,050.00	Ψ-27.23	ф00 <del>4.4</del>
		sanitary sewer factory						
	3210	wyes or tees; complete as specified	Each	28.00	\$184.00	\$5,152.00	\$849.66	\$23,790.4
	3210	Furnish and install 4"	Eacn	28.00	\$104.00	\$5,132.00	\$649.00	\$23,790.40
		sanitary sewer laterals						
		1 '						
	2220	(new); complete as		20.00	407.00	#2 (10 00	#00.40	<b>***</b> *** <b>**</b>
	3230	specified Furnish and install 4"	Linear Feet	30.00	\$87.00	\$2,610.00	\$80.19	\$2,405.7
		sanitary sewer riser						
	2224	(new); complete as		200	****	****	***** - *	****
	3231	specified	Linear Feet	2.00	\$146.00	\$292.00	\$151.50	\$303.0
		Furnish and install 6"						
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	30.00	\$93.00	\$2,790.00	\$85.51	\$2,565.3

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#901	1482)					
Owner: Oshkosh WI, City								
olicitor: Oshkosh WI, Cit								
,	, -							
id Opening: 04/01/2024 1	1:00 AM CDT							
I	1							
					Dorne	or Inc	DE GROC	OT INC
					Donie		DE GROC	71,1110.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		sanitary sewer riser						
		(new); complete as						
	3233	specified	Linear Feet	2.00	\$164.00	\$328.00	\$166.65	\$333.3
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	800.00	\$100.00	\$80,000.00	\$88.33	\$70,664.0
		Furnish and install 4"/6"			4	400,000000	40000	4. 0,00 2.0
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	50.00	\$157.00	\$7,850.00	\$151.50	\$7,575.0
	0200	Furnish and install	Emedi Teet	50.00	\$107.00	\$7,000.00	\$101.00	ψ, γο, σ. κ
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	56.00	\$45.00	\$2,520.00	\$69.69	\$3,902.6
	3230	Furnish and install clay	Lacii	30.00	\$ <del>4</del> 5.00	\$2,320.00	\$09.09	φ3,702.0
		dams; complete as						
	3238	specified	Each	28.00	\$122.00	\$3,416.00	\$353.50	\$9,898.0
	3236	Furnish and install	Each	28.00	\$122.00	\$5,410.00	\$333.30	ψ2,020.0
		connection to existing 8"						
		sanitary sewer mains;						
	2200	*	F1.	2.00	¢2 F72 00	¢5 144 00	#2.000 F0	<b>#7 777 (</b>
	3300	complete as specified Furnish and install	Each	2.00	\$2,572.00	\$5,144.00	\$3,888.50	\$7,777.0
		connection to existing 12"						
	2224	sanitary sewer mains;		2.00	40.005.00	# 405.00	44 202 50	440.000
	3304	complete as specified Furnish and install	Each	3.00	\$2,035.00	\$6,105.00	\$4,292.50	\$12,877.5
		sanitary sewer concrete						
	2222	collars; complete as		2.00	# <b>12</b> < 00	4070 00	#2 <b>-2-</b> 00	AE 050
	3330	specified	Each	2.00	\$436.00	\$872.00	\$3,535.00	\$7,070.0
		Furnish and install 10"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	20.00	\$214.00	\$4,280.00	\$156.55	\$3,131.0
		Furnish and install 18"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3410	specified	Linear Feet	15.00	\$263.00	\$3,945.00	\$162.88	\$2,443.2
		Rock excavation;						
	3600	complete as specified	Cubic Yards	25.00	\$0.01	\$0.25	\$252.50	\$6,312.5

Contract 24-12 - East 7th Ave	enue and Grand	Street Reconstruction (#901	4482)					
wner: Oshkosh WI, City o								
olicitor: Oshkosh WI, City								
, ,								
id Opening: 04/01/2024 11:	:00 AM CDT							
1 0								
					Dorne	er Inc.	DE GROO	OT, INC.
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	1,230.00	\$2.30	\$2,829.00	\$2.27	\$2,792.1
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	4.00	\$132.00	\$528.00	\$252.50	\$1,010.0
		Abandon sanitary sewer						·
		manholes; complete as						
	3800	specified	Each	2.00	\$488.00	\$976.00	\$606.00	\$1,212.0
		Abandon 8" sanitary			,	**	,	
		sewer; complete as						
	3802	specified	Linear Feet	58.00	\$5.00	\$290.00	\$8.08	\$468.6
		Abandon 10" sanitary			,	,	,	,
		sewer; complete as						
	3804	specified	Linear Feet	183.00	\$5.00	\$915.00	\$10.10	\$1,848.3
		Remove sanitary sewer;			40100	41-2100	733133	4-/
	3854	complete as specified	Linear Feet	71.00	\$60.00	\$4,260.00	\$35.35	\$2,509.8
		Sanitary sewer utility line			40000	4 -/	70000	4-/
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$2,077.00	\$4,154.00	\$1,464.50	\$2,929.0
		Excavation special			4-/*******	+ 3/20 2100	4-,	4-/
		(sanitary); complete as						
	3892	specified	Tons	105.00	\$20.00	\$2,100.00	\$25.25	\$2,651.2
	3032	Bentonite slurry dam	10110	100.00	\$20.00	Ψ2/100.00	\$20.20	Ψ2/001.2
		(sanitary); complete as						
	3894	specified	Each	2.00	\$894.00	\$1,788.00	\$858.50	\$1,717.0
		Furnish and install 4"			444 -144	4-7,	400000	4-7::
		ductile iron water main						
		(relay) with polywrap;						
	4000	complete as specified	Linear Feet	30.00	\$141.00	\$4,230.00	\$133.13	\$3,993.9
	1000	Furnish and install 6"		20.00	Ψ111.00	\$ 1,200.00	\$100.10	ψ0,770.7
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	115.00	\$158.00	\$18,170.00	\$118.35	\$13,610.2
	1002	Furnish and install 8"	Lincui i cci	115.00	ψ130.00	ψ10,170.00	ψ110.33	ψ10,010.2
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	1,101.00	\$155.00	\$170,655.00	\$125.66	\$138,351.6
	1001	Furnish and install 10"	Zincui i cet	1,101.00	Ψ135.00	φ17 0,033.00	Ψ125.00	φ100,001.0
		ductile iron water main						
		(relay) with polywrap;						
	4006	complete as specified	Linear Feet	30.00	\$225.00	\$6,750.00	\$156.27	\$4,688.1

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City			<u> </u>					
Solicitor: Oshkosh WI, City								
, , , , , , , , , , , , , , , , , , , ,	, -							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
					Dorner	· Inc.	DE GROO	OT, INC.
					2011101		DE GROO	1,110
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install new 6"						
		ductile iron water main						
		with polywrap; complete						
	4020	as specified	Linear Feet	35.00	\$150.00	\$5,250.00	\$109.52	\$3,833.20
		Furnish and install new 8"						
		ductile iron water main						
		with polywrap; complete						
	4022	as specified	Linear Feet	150.00	\$150.00	\$22,500.00	\$120.07	\$18,010.50
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	700.00	\$95.00	\$66,500.00	\$72.04	\$50,428.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	40.00	\$72.00	\$2,880.00	\$72.04	\$2,881.60
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	25.00	\$633.00	\$15,825.00	\$1,061.83	\$26,545.75
		Furnish and install water						
		service clay dams;						
	4055	complete as specified	Each	25.00	\$186.00	\$4,650.00	\$353.50	\$8,837.50
		Furnish and install						
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$2,208.00	\$2,208.00	\$2,233.11	\$2,233.11
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	1.00	\$2,531.00	\$2,531.00	\$2,316.94	\$2,316.94
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	2.00	\$3,085.00	\$6,170.00	\$2,417.94	\$4,835.88
		Furnish and install						
		connections to existing						
		10" water main; complete						
	4062	as specified	Each	2.00	\$3,158.00	\$6,316.00	\$2,883.55	\$5,767.10
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	3.00	\$912.00	\$2,736.00	\$1,109.99	\$3,329.97

Contract 24-12 - East 7th Av	venue and Grand	Street Reconstruction (#90144	182)					
Owner: Oshkosh WI, City		· I	-					
Solicitor: Oshkosh WI, Cit								
Solicitor. Oshikosh VVI, Cit	1							
Bid Opening: 04/01/2024 1	1:00 AM CDT							
					Dorner Ir	nc.	DE GROOT,	, INC.
Castian Tida	It and Co. In	Ham Description	II- (M	O constitue	Hali Dalaa	Estancian	II'( D.'	F. f
Section Title	Item Code	Item Description Furnish and install 8" x 8"	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		water main tee; complete						
	4111	as specified	Each	3.00	\$990.00	\$2,970.00	\$1,183.39	\$3,550.17
	4111	Furnish and install 8" x	Each	3.00	\$990.00	\$2,970.00	\$1,100.39	\$5,550.17
		10" water main tee;						
	4112		Eash	1.00	\$1,293.00	\$1,293.00	\$1,443.29	\$1,443.29
	4112	complete as specified Furnish and install 4" 45	Each	1.00	\$1,293.00	\$1,293.00	\$1,443.29	\$1,443.25
	4005	degree water main bend;		1	#2 c4 00	*******	4500.00	42.045.04
	4235	complete as specified Furnish and install 6" 45	Each	4.00	\$361.00	\$1,444.00	\$503.99	\$2,015.96
		degree water main bend;			**-**		****	
	4236	complete as specified	Each	14.00	\$451.00	\$6,314.00	\$664.58	\$9,304.12
		Furnish and install 10" 45						
		degree water main bend;						
	4238	complete as specified	Each	4.00	\$790.00	\$3,160.00	\$1,061.51	\$4,246.04
		Furnish and install 6"						
		water main cap; complete					_	
	4254	as specified	Each	2.00	\$566.00	\$1,132.00	\$467.13	\$934.26
		Furnish and install 8"						
		water main cap; complete						
	4255	as specified	Each	1.00	\$456.00	\$456.00	\$546.41	\$546.41
		Furnish and install 8" x 4"						
		water main reducer;						
	4263	complete as specified	Each	1.00	\$469.00	\$469.00	\$714.07	\$714.07
		Furnish and install 8" x 6"						
		water main reducer;						
	4264	complete as specified	Each	2.00	\$522.00	\$1,044.00	\$765.58	\$1,531.16
		Furnish and install 8"						
		water main plug;						
	4309	complete as specified	Each	1.00	\$904.00	\$904.00	\$367.64	\$367.64
		Cut and cap existing 6"						
		water main; complete as						
	4352	specified	Each	2.00	\$927.00	\$1,854.00	\$2,687.61	\$5,375.22
		Cut and cap existing 8"						
		water main; complete as						
	4354	specified	Each	2.00	\$1,215.00	\$2,430.00	\$2,768.41	\$5,536.82
		Cut and cap existing 10"						
		water main; complete as						
	4356	specified	Each	2.00	\$1,481.00	\$2,962.00	\$2,816.89	\$5,633.78

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City			,					
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh 111, Chy	, or							
Bid Opening: 04/01/2024 11	1:00 AM CDT							
Dia Opening. 01/01/202111	10011111 CD1							
					Dorner	· Inc.	DE GROO	T. INC.
					20		22 0.100	1,11(0)
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	4.00	\$2,143.00	\$8,572.00	\$2,206.85	\$8,827.40
		Furnish and install 8"						
		water main gate valve;						
	4402	complete as specified	Each	10.00	\$2,986.00	\$29,860.00	\$3,039.09	\$30,390.90
		Furnish and install 10"						
		water main gate valve;						
	4403	complete as specified	Each	2.00	\$4,210.00	\$8,420.00	\$4,202.61	\$8,405.22
		Furnish and install 10" x						
		6" tapping valve and						
		sleeve; complete as						
	4437	specified	Each	1.00	\$5,917.00	\$5,917.00	\$6,019.60	\$6,019.60
		Furnish and install 10" x						
		8" tapping valve and						
		sleeve; complete as						
	4438	specified	Each	1.00	\$6,844.00	\$6,844.00	\$6,885.17	\$6,885.17
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	4.00	\$6,670.00	\$26,680.00	\$6,239.78	\$24,959.12
		Furnish and install 2"						
		water main casing pipe;						
	4712	complete as specified	Linear Feet	20.00	\$101.00	\$2,020.00	\$120.19	\$2,403.80
		Furnish and install 18"						
		water main casing pipe;						
	4726	complete as specified	Linear Feet	15.00	\$212.00	\$3,180.00	\$230.64	\$3,459.60
		Rock excavation;						
	4800	complete as specified	Cubic Yards	20.00	\$0.01	\$0.20	\$151.50	\$3,030.00
		Abandon water main on						
		Grand Street; complete as						
	4900	specified	Lump Sum	1.00	\$1,101.00	\$1,101.00	\$3,737.00	\$3,737.00
		Abandon water main on		T				
		East 7th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$734.00	\$734.00	\$1,212.00	\$1,212.00
		Remove water main;		T				
	4920	complete as specified	Linear Feet	350.00	\$53.00	\$18,550.00	\$30.30	\$10,605.00
		Excavation special						
		(water); complete as						
	4990	specified	Tons	100.00	\$20.00	\$2,000.00	\$25.25	\$2,525.00

Contract 24-12 - East 7th Av	enue and Grand	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City o			,					
Solicitor: Oshkosh WI, City								
Solicitor. Common 111, City								
Bid Opening: 04/01/2024 11	:00 AM CDT							
3								
					Dorne	r Inc.	DE GROC	OT, INC.
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Bentonite slurry dam						
		(water); complete as						
	4992	specified	Each	2.00	\$677.00	\$1,354.00	\$1,212.00	\$2,424.00
		Furnish and install pull						
		box (steel); 18" x 36";						
	5012	complete as specified	Each	16.00	\$1,320.00	\$21,120.00	\$1,325.63	\$21,210.08
		Adjust pull box; complete						
	5025	as specified	Each	16.00	\$79.00	\$1,264.00	\$6.06	\$96.96
		Remove concrete base;						
	5027	complete as specified	Each	3.00	\$211.00	\$633.00	\$212.10	\$636.30
		Install CITY-supplied						
		lighting control cabinet;						
	5051	complete as specified	Each	1.00	\$2,112.00	\$2,112.00	\$2,121.00	\$2,121.00
		Install electrical service;						
	5054	complete as specified	Each	1.00	\$2,375.00	\$2,375.00	\$2,386.13	\$2,386.13
		Furnish and install 3"						
	5400	Schedule 40 PVC;		2 420 00	#4.400	404 504 00	44.05	#24 (20 =0
	5130	complete as specified	Linear Feet	2,130.00	\$14.80	\$31,524.00	\$14.85	\$31,630.50
		Connect to existing						
	F101	conduit; complete as	Е 1	2.00	#264.00	ф <b>т</b> 02 00	#2/5 12	#F0F 20
	5181	specified Furnish and install 4	Each	3.00	\$264.00	\$792.00	\$265.13	\$795.39
	5230	gauge red-coated wire;	Linear Feet	2,890.00	\$2.60	\$7,514.00	\$2.66	\$7,687.40
	5230	complete as specified Furnish and install 4	Linear reet	2,890.00	\$2.60	\$7,314.00	\$2.00	\$7,007.40
		gauge black-coated wire;						
	5231	complete as specified	Linear Feet	2,890.00	\$2.60	\$7,514.00	\$2.66	\$7,687.40
	5251	Furnish and install 10	Linear reet	2,090.00	\$2.00	\$7,314.00	\$2.00	\$7,007.40
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	2,350.00	\$1.00	\$2,350.00	\$1.01	\$2,373.50
	3202	Furnish and install 12	Enical I CCt	2,550.00	φ1.00	φ2,030.00	ψ1.01	Ψ2,013.00
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	440.00	\$0.80	\$352.00	\$0.85	\$374.00
	32, 3	Furnish and install 12		110.00	φ0.00	\$552.00	ψ0.00	ĢC, 1.00
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	440.00	\$0.80	\$352.00	\$0.85	\$374.00
		Furnish and install 12			40000	1,30=100	,,,,,,	, , , , , , , , , , , , , , , , , , , ,
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	440.00	\$0.80	\$352.00	\$0.85	\$374.00

Contract 24-12 - East 7th Aven	ue and Grand S	Street Reconstruction (#9014	1482)					
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
Bid Opening: 04/01/2024 11:00	0 AM CDT							
1 0								
					Dorner	r Inc.	DE GRO	OT, INC.
_								
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	28.00	\$58.00	\$1,624.00	\$58.33	\$1,633.24
		Furnish and install 2A						
		fuse; complete as						
	5386	specified	Each	28.00	\$5.00	\$140.00	\$5.30	\$148.40
		Install CITY-supplied						
		pole and pole top						
		luminaire; complete as						
	5410	specified	Each	6.00	\$792.00	\$4,752.00	\$795.38	\$4,772.28
		Install CITY-supplied 10'						
		truss-type luminaire arm;						
	5454	complete as specified	Each	9.00	\$370.00	\$3,330.00	\$371.18	\$3,340.62
		Install CITY-supplied						
		cobra head luminaire;						
	5460	complete as specified Install CITY-supplied 20'	Each	9.00	\$211.00	\$1,899.00	\$212.10	\$1,908.90
		tapered pole with						
		transformer base;						
	5494	complete as specified	Each	9.00	\$792.00	\$7,128.00	\$795.38	\$7,158.42
_	3494	Furnish and install Type 5	Eacn	9.00	\$792.00	\$7,126.00	\$793.36	\$7,136.42
		base; complete as						
		specified	Each	14.00	\$1,135.00	\$15,890.00	\$1,140.04	\$15,960.56
	5501	Furnish and install Type 9	Buch	11.50	ψ1,100.00	φ15,070.00	ψ1,110.01	φ10,700.00
		base; complete as						
	5506	specified	Each	1.00	\$2,112.00	\$2,112.00	\$2,121.00	\$2,121.00
Bid Total:		1			.,	\$2,401,058.17	.,	\$2,433,361.66